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1. Find out the wunit digit in the following expression ?
31 x 37 x 36 x 46 x 89

A2

B.8

C.6

D.1

Answer: b


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_Dlh9OC9z6IYS

° Watch Video Solution

2. Find out the unit digit in the following expression ?
91 x 93 X 95 x 97 x 98

A 2

B.3

C.0

D.4

Answer: ¢

° Watch Video Solution

3. Find the unit digit of the product of all the odd prime numbers.

A5

B.2


https://dl.doubtnut.com/l/_Dlh9OC9z6IYS
https://dl.doubtnut.com/l/_i7pR44O9ib22
https://dl.doubtnut.com/l/_sdSDC1LttkWg

C.9

D.4

Answer: a

o Watch Video Solution

4.Find out the unit digit in the following expression.

584 x 328 x 547 x 613

A.a) 4

B.b) 8

C.o)2

D.d) 5

Answer: ¢

° Watch Video Solution



https://dl.doubtnut.com/l/_sdSDC1LttkWg
https://dl.doubtnut.com/l/_dsOdLrz9jNn1
https://dl.doubtnut.com/l/_37Z3COBZAGvq

5. Find out the unit digit in the product of all the even numbers.

A.a)5

B.b) 2

C.g0

D.d) 4

Answer: ¢

° Watch Video Solution

6. Find out the unit digit in 4!

A.a)8

B.b)5

C.0o

D.d) 4


https://dl.doubtnut.com/l/_37Z3COBZAGvq
https://dl.doubtnut.com/l/_48Xt9mhFZET8

Answer: d

° Watch Video Solution

7.Find out the unit digit in 5!

A.O

B.5

C.2

D.4

Answer: a

° Watch Video Solution

8.Find out the unit digit in (6736)**°""

A2


https://dl.doubtnut.com/l/_48Xt9mhFZET8
https://dl.doubtnut.com/l/_Q9vjjl3HMLcO
https://dl.doubtnut.com/l/_uclmQHnUHEf4

B.6

C.4

D.8

Answer: b

o Watch Video Solution

9.Find out the unit digit in (67354)'%*"

A.8
B.4
C.6

D.5

Answer: b

° Watch Video Solution



https://dl.doubtnut.com/l/_uclmQHnUHEf4
https://dl.doubtnut.com/l/_BaShbXtnldcS
https://dl.doubtnut.com/l/_LeVRoEK1bs9W

10. Find out the unit digit in (3259)'%**

A9
B.3
C.7

D.1

Answer: d

° Watch Video Solution

11. Find out the unit digit in the following expression (2137)"

A.9
B.7
C.3

D.5


https://dl.doubtnut.com/l/_LeVRoEK1bs9W
https://dl.doubtnut.com/l/_AnNbTAayN8l3

Answer: b

° Watch Video Solution

12. Find out the unit digit in (13)2°%

A.A 3
B.B.9
C.C1

D.D.7

Answer: d

° Watch Video Solution

13.Find out the unit digit in (22)%

A.8


https://dl.doubtnut.com/l/_AnNbTAayN8l3
https://dl.doubtnut.com/l/_64Um1LnAzoDH
https://dl.doubtnut.com/l/_2lWe8kG9aBue

B.2

C.6

D.4

Answer: a

° Watch Video Solution

14. Find out the unit digit in -

(23)%! x (24)* x (26)* x (27)** x (25)%
A. 2
B.4
C.0

D.5

Answer: c

o Watch Video Solution



https://dl.doubtnut.com/l/_2lWe8kG9aBue
https://dl.doubtnut.com/l/_FuVJ8fh3KZLh

15. Find out the unit digit in -

(235)%"° + (314)*° + (6736)*" + (3167)""
A2
B.O
C.8

D.5

Answer: ¢

° Watch Video Solution

12%  gi8
16. Find out the unit digit in 3T + F
A2
B.4

C.0


https://dl.doubtnut.com/l/_FuVJ8fh3KZLh
https://dl.doubtnut.com/l/_oKUQqMCuaPx3
https://dl.doubtnut.com/l/_WcLwKijXlu2c

D.6

Answer: ¢

° Watch Video Solution

17. Find out the unit digit in the following expression -
(3694)'™ % (615)*7 x (841)™"

A5

B.3

C.o

D.4

Answer: d

° Watch Video Solution



https://dl.doubtnut.com/l/_WcLwKijXlu2c
https://dl.doubtnut.com/l/_FD5rQeplN9QL

18. Find out the unit digit in the (795 — 358)

A A7
B.B.3
C.C.4

D.D.O

Answer: ¢

o Watch Video Solution

19. Find out the unit digit in the -
(17)1999 + (11)1999 . (7)1999

A 0

B.1

C.2

D.7


https://dl.doubtnut.com/l/_z11MyPPs0rp0
https://dl.doubtnut.com/l/_YCiA4eahs3lB

Answer: b

° Watch Video Solution

20. Find out the unit digit in the 111!

A.O

B.1

C.5

D.3

Answer: a

° Watch Video Solution

21. Find out the unit digit in the following expression -

13 4+23+3+4%... +99


https://dl.doubtnut.com/l/_YCiA4eahs3lB
https://dl.doubtnut.com/l/_vxbRfs609yDb
https://dl.doubtnut.com/l/_3HU7AJQM5V2d

A.O0

B.1

C.2

D.5

Answer: a

° Watch Video Solution

22. Find out the unit digit in product of all prime numbers in between 1

and 99999.

A.9

B.7

C.o0

D. None of these

Answer: ¢



https://dl.doubtnut.com/l/_3HU7AJQM5V2d
https://dl.doubtnut.com/l/_bkVVHSElD5Qm

| ° Watch Video Solution

23. The set of all the prime num hers which are greater then 2 but less

than 222, Find the unit digit in the product of the set ?

A4

B.5

C.0

D. None of these

Answer: b

° Watch Video Solution

24.Find out the unit digit in the -

1 Xx2%x3x4xhx6xT7Tx8x9x10
100

A7


https://dl.doubtnut.com/l/_bkVVHSElD5Qm
https://dl.doubtnut.com/l/_eOUiJjKewqjK
https://dl.doubtnut.com/l/_pbQmspyISLgd

B.9

C.8

D. None of these

Answer: ¢

° Watch Video Solution

25. Find out the unit digit in the -

88892335! + 2229235! i 6662359! 4 99999999!

A5
B.9
C.3

D. None of these

Answer: b

o Watch Video Solution



https://dl.doubtnut.com/l/_pbQmspyISLgd
https://dl.doubtnut.com/l/_IK5grkIvare3

26. The last digit of the following expreesion is :
(AN + (2% + (3Y)* + (4! +...(10nH)"

A 4

B.5

C.6

D.7

Answer: d

o Watch Video Solution

27.1f the unit digit in (12345k)"? is 6.Then find the value of K.

(12345K)™

A 8

B.6


https://dl.doubtnut.com/l/_IK5grkIvare3
https://dl.doubtnut.com/l/_4a0Hr4RJpo2u
https://dl.doubtnut.com/l/_COpjoJCdelHs

C.2

D. All of these

Answer: d

o Watch Video Solution

28.The last number in the expression

44+ 92 +43 4194 145+ 96 .. 49 4 gl00

A.O

B.3

C.5

D. None of these

Answer: a

° Watch Video Solution



https://dl.doubtnut.com/l/_COpjoJCdelHs
https://dl.doubtnut.com/l/_dFiTJAxzMdPj
https://dl.doubtnut.com/l/_OfPapf01o9Ws

29. Find out the unit digit in the simplified form of

[ (251)"99 +(21)"39 -(106)"100 +(705)"35 -16"4 + 259 |
Al
B.6
C.4

D.5

Answer: ¢

° Watch Video Solution

30.The unit digit of 71 x 72 x ..... X 79is

A.a)0
B.b)4
C.c)6

D.d)7


https://dl.doubtnut.com/l/_OfPapf01o9Ws
https://dl.doubtnut.com/l/_eYg6jjy9ZKtN

Answer: a

° Watch Video Solution

31.1n 13799 x 96 x 996, the tenth place digit is?

A3

B.4

C.5

D.8

Answer: d

° Watch Video Solution

32.1n 596 x 17394 x 15353 x 296 x 427, the tenth place digit is?

Al


https://dl.doubtnut.com/l/_eYg6jjy9ZKtN
https://dl.doubtnut.com/l/_VFAalRmBdX1M
https://dl.doubtnut.com/l/_ktWewYCsCweP

B.2

C.3

D.5

Answer: b

° Watch Video Solution

33.1n 357 x 265 x 239 x 1352, the last two digits are?

A. 20

B.33

C.40

D. 45

Answer: c

o Watch Video Solution



https://dl.doubtnut.com/l/_ktWewYCsCweP
https://dl.doubtnut.com/l/_aDlZK1xLxKuJ
https://dl.doubtnut.com/l/_l5U6zg8Vvl88

34.Find unit digit in (11). (12)2. (13)%. (14)*. (15)°. (16)°.

A3
B.O
C.2

D.5

Answer: b

o Watch Video Solution

35. Find the number of Zeros at the end of the product -

12 x 27 x 63 x 113 x 1250 x 24 x 650

A2

B.6

C.4

D.8


https://dl.doubtnut.com/l/_l5U6zg8Vvl88
https://dl.doubtnut.com/l/_Lufr4YhRS8M7

Answer: b

° Watch Video Solution

36. Find the number of highest power of 3 in 270!

A.134

B.130

C.140

D.135

Answer: a

° Watch Video Solution

37.Find the number of highest power of 7 in 777!

A.a)128


https://dl.doubtnut.com/l/_Lufr4YhRS8M7
https://dl.doubtnut.com/l/_uctVTMejHIMg
https://dl.doubtnut.com/l/_YHqNFqyCJtoR

B. b)130

C.0)126

D. d)125

Answer: a

° Watch Video Solution

38. The number of zeros at the end of 100! Is :

A. 20

B. 22

C.24

D. 25

Answer: c

o Watch Video Solution



https://dl.doubtnut.com/l/_YHqNFqyCJtoR
https://dl.doubtnut.com/l/_7myhLDukOg8o
https://dl.doubtnut.com/l/_369apCthNLam

39. Find the number of Zeros at the end of the given product

B.b) 40

C.c) 36

D.d) 32

Answer: a

° Watch Video Solution

40. Find the number of Zeros at the end of the given expression?

A 112

B. 110

C. 118


https://dl.doubtnut.com/l/_369apCthNLam
https://dl.doubtnut.com/l/_agL9kQ2Subps

D. 115

Answer: a

° Watch Video Solution

41. Find the number of Zeros at the end of 378!

A. 93

B.90

C.75

D. 81

Answer: a

° Watch Video Solution

42.Find the number of zeros at the end of 1000!.


https://dl.doubtnut.com/l/_agL9kQ2Subps
https://dl.doubtnut.com/l/_P9t6Tc5a88UR
https://dl.doubtnut.com/l/_eUWJSraDCzxi

A. 200

B. 249

C. 248

D. 250

Answer: b

o Watch Video Solution

43. Find the number of Zeros at the end of the product -

12 x5 x15x24x13 x30x 75

A4

B.5

C.2

D.3

Answer: b



https://dl.doubtnut.com/l/_eUWJSraDCzxi
https://dl.doubtnut.com/l/_vpFkpKp6frpv

| ° Watch Video Solution

44.Find the number of Zeros at the end of the product -

1 x3xbx7x9x11...... 99 x 101

A 24

B.5

C.2

D.O

Answer: d

° Watch Video Solution

45. Find the number of Zeros at the end of the product -

140! x 5 x 15 x 22 x 11 x 44 x 135

A. 34


https://dl.doubtnut.com/l/_vpFkpKp6frpv
https://dl.doubtnut.com/l/_Dr1InEA9uxBn
https://dl.doubtnut.com/l/_6gR7lmhMSBfN

B.35

C.36

D.37

Answer: d

° Watch Video Solution

46. Find the number of Zeros at the end of the product -

251x321x45"

A.10

B.23

C. 22

D.7

Answer: b

o Watch Video Solution



https://dl.doubtnut.com/l/_6gR7lmhMSBfN
https://dl.doubtnut.com/l/_qS7aZaOE9Uz1

47.Find the number of Zeros at the end of the product -

A.225
B. 250
C. 240

D. 245

Answer: b

° Watch Video Solution

48.Find the total numbers from 100 to 200, which are neither divisible by

3 nor by 5.

° Watch Video Solution



https://dl.doubtnut.com/l/_qS7aZaOE9Uz1
https://dl.doubtnut.com/l/_tbWmbK0Bqde8
https://dl.doubtnut.com/l/_bypGbviIMG01

49. Find the number of Zeros at the end of the product -

11T % 221 5 331 44t . 10101

A. a)51

B. b)10

C.c)5!'+ 10!

D.d) None of these

Answer: ¢

o Watch Video Solution

50. Find the number of Zeros at the end of the product -

23 % 5% x 42 x 108 x 610 x 152 x 81 Xx20'% x 10'® x 2520

A. 80

B. 98

C.94


https://dl.doubtnut.com/l/_Fgi63llwQQ9H
https://dl.doubtnut.com/l/_6DtnyRI7K7Gu

D. 100

Answer: a

° Watch Video Solution

51. Find the number of Zeros at the end of the product -

3200 + 1000 + 40000 + 32000 + 15000

A. 15

B.13

C.2

D.3

Answer: ¢

° Watch Video Solution



https://dl.doubtnut.com/l/_6DtnyRI7K7Gu
https://dl.doubtnut.com/l/_pS1lqmOXQPiX

52. Find the number of Zeros at the end of the product -

20 x 40 x 7600 x 600 x 300 x 1000

A1

B.10

C.2

D.3

Answer: a

o Watch Video Solution

53. Find the number of Zeros -

100! +200!

A. 24

B. 25

C.49


https://dl.doubtnut.com/l/_IEg9nbi0qdOo
https://dl.doubtnut.com/l/_Sr3X8THwRm9u

D. None of these

Answer: a

° Watch Video Solution

54. Find the number of Zeros -

100! x 200!

A. 49

B. 24

C.73

D. None of these

Answer: ¢

° Watch Video Solution



https://dl.doubtnut.com/l/_Sr3X8THwRm9u
https://dl.doubtnut.com/l/_qktXoSyCzuJb

55. Find the number of Zeros -

2222 % 5555

A. 222

B. 555

C.777

D.333

Answer: a

o Watch Video Solution

56. Find the number of Zeros at the end of the expression -

10 + 100 + 1000 + ....... + 100000000

A.8

B. 28

C.o


https://dl.doubtnut.com/l/_6X5EsLOQgbVX
https://dl.doubtnut.com/l/_DMQPyFRV2bb3

D.1

Answer: d

° Watch Video Solution

57.Find the number of Zeros at the end of the product -

21 % 52 % 22 x 5% x 2° x 5% x 27 x 58 x 29 x 510

A.30

B. 25

C.55

D. 50

Answer: b

° Watch Video Solution



https://dl.doubtnut.com/l/_DMQPyFRV2bb3
https://dl.doubtnut.com/l/_Z35OdIAqUl2r

58. Find the number of Zeros at the end of the expression -
(3123 . 3122 o 3121) (2121 o 2120 o 2119)

A a)l

B.b) O

C.c) 19

D.d) 120

Answer: a

o Watch Video Solution

59. Find the number of Zeros at the end of the given expression -
(8123 _gl22 _ 8121) (3223 _ 3222 _ 3221)

A.a)l

B.b) 2

C.co


https://dl.doubtnut.com/l/_ZsEMryNwmopd
https://dl.doubtnut.com/l/_Ylz59HgHf3io

D.d)3

Answer: b

° Watch Video Solution

60. Find number of zeros

120 % 220 5 320 5 420 . . Xx38%0,

A.160

B. 180

C.150

D. 120

Answer: a

the

end

of

° Watch Video Solution



https://dl.doubtnut.com/l/_Ylz59HgHf3io
https://dl.doubtnut.com/l/_NaFIa9CmgHyQ

61. Find number of zeros in the end of

B x22 %3 x ... x 2628

A.100

B. 112

C.125

D. 128

Answer: b

o Watch Video Solution

62. The numbers 2, 4, 6, 8 ..., 98. 100 are multiplied together. The number

of zeros at the end of the product must be :

A.13

B.12


https://dl.doubtnut.com/l/_3RpZY7MGDK5g
https://dl.doubtnut.com/l/_RyT1yczhy4Dw

D.10

Answer: b

° Watch Video Solution

63. Number of zeros in the end of
(11 %22 % 3% x4 x . % 98% % 9999 x 100100) ?

A. 1200

B. 1300

C. 1500

D. 1600

Answer: b

° Watch Video Solution



https://dl.doubtnut.com/l/_RyT1yczhy4Dw
https://dl.doubtnut.com/l/_l77t9GJ6eC4Q

64. Find the total number of factors of 240 -

A. 20

B. 25

D. 22

Answer: a

o Watch Video Solution

65. Find the total number of factors of 1420 ?

A 12

B.13

D.15


https://dl.doubtnut.com/l/_IM0NA1KKMJwq
https://dl.doubtnut.com/l/_b5UfMYamUFLC

Answer: a

° Watch Video Solution

66. Find the total number of Prime factors in the given expression ?
(30)® x (25)™ x (12)*

A. 249

B. 250

C. 255

D. 260

Answer: a

° Watch Video Solution

67. Find the total number of Prime factors in the given expression ?

(30)" x (22)'! x (15)*


https://dl.doubtnut.com/l/_b5UfMYamUFLC
https://dl.doubtnut.com/l/_LT4xhucTI4Cd
https://dl.doubtnut.com/l/_rmRs94gDdtWD

A. 110

B. 115

C.120

D. 125

Answer: b

° Watch Video Solution

68. s divisible by -

(271 + 272 + 273 + 274)

A.9

B.10

D.13

Answer: b



https://dl.doubtnut.com/l/_rmRs94gDdtWD
https://dl.doubtnut.com/l/_vKj2NPjwPZgr

| ° Watch Video Solution

69. A four digit number is formed repeating two digits two times. Like

2525, 3232 etc. such type of number always divisible by?

A7

B. 101

D.3

Answer: d

° Watch Video Solution

70. Which of the follwoing number will also divide a 6 digit number which

is in the sequence of xyxyxy. (Where1 < z < 9,1 <y <9).

A. 1010


https://dl.doubtnut.com/l/_vKj2NPjwPZgr
https://dl.doubtnut.com/l/_LIP9ASqGs4bH
https://dl.doubtnut.com/l/_rFoibqNhpsG6

B. 10101

c.11om

D. 11010

Answer: b

° Watch Video Solution

71. If a number n is whole number, which is greater than 1. then

n®(n® — 1) is always divisible by ?

A.16

B.12

D.8

Answer: b

o Watch Video Solution



https://dl.doubtnut.com/l/_rFoibqNhpsG6
https://dl.doubtnut.com/l/_HIRcbl96cJDL

72.1n the process of division, divisor is 10 times of quotient and 5 times of

remainder. If remainder is 46, then dividend will be ?

A. 5382

B. 5290

C. 5336

D. 5330

Answer: ¢

o Watch Video Solution

73. If a number is divided by 102, the re- mainder is obtained 91. If the

same num- ber is divided by 17, then remainder will be?

A 6

B. 1


https://dl.doubtnut.com/l/_HIRcbl96cJDL
https://dl.doubtnut.com/l/_Zawc4hzPPdu0
https://dl.doubtnut.com/l/_Ja7gv5FmrEZx

C.0

D.2

Answer: a

° Watch Video Solution

74. When a number is divided by 899, re- mainder is obtained 63. If same

number is divided by 29. then remainder will be ?

A.10

B.5

C.4

D.2

Answer: b

° Watch Video Solution



https://dl.doubtnut.com/l/_Ja7gv5FmrEZx
https://dl.doubtnut.com/l/_6WSdn0o3OZVs
https://dl.doubtnut.com/l/_bN83hRUyznxR

75.When a number is divided by 52, remainder is obtained 45. If the same

number is divided by 13, the remainder ?

A5

B.6

D.7

Answer: b

o Watch Video Solution

76. When a number is successively divided by 4 and 5. The remainder
obtained are 1 and 4 respectively. when the same number is successively
divided by 5 and 4, the remainder obtained are -?

A2,3

B.3,4


https://dl.doubtnut.com/l/_bN83hRUyznxR
https://dl.doubtnut.com/l/_vaieTTYn3h3h

C. 2,1

D.3,2

Answer: a

° Watch Video Solution

77. A least number which when divide by 2, 3 and 5 successively, the
remainder ob- tained are 1, 2 and 3 respectively. If the same number is
divided by 7, the re- mainder obtained is -

A.2

B.3

C.4

D.5

Answer: ¢

° Watch Video Solution



https://dl.doubtnut.com/l/_vaieTTYn3h3h
https://dl.doubtnut.com/l/_7XdsygEivLgr

78.Find the least number which when di- vided by 4, 5 and 6 successively,
the re- mainder obtained are 2, 1 and 1 respec- tively. If the sequence of
successive di- visors is reversed, the remeinder obtained are ?

A.2,4and O

B.1,2and O

C.1,1and 2

D.2,1and 4

Answer: a

o Watch Video Solution

79. Which of the following number does not completely divide

(29)*" + (17)% 2

A2


https://dl.doubtnut.com/l/_7XdsygEivLgr
https://dl.doubtnut.com/l/_f7TCJ9DJhPxe
https://dl.doubtnut.com/l/_w9L3N1V8WijQ

B. 1

C.23

D. 46

Answer: b

° Watch Video Solution

80. Which of the following number does not completely divide
(341 + 782) ?

A a)4

B.b) 52

C.o)17

D.d) 26

Answer: c

o Watch Video Solution



https://dl.doubtnut.com/l/_w9L3N1V8WijQ
https://dl.doubtnut.com/l/_pG0BpQFKVCBG

81. ((49) 5 1) is completely divisible by ?

A.50
B. 51
C.29

D.8

Answer: d

° Watch Video Solution

82. Which of the following number does not completely divide

2310 _ 10247

A3

B.5

C.7


https://dl.doubtnut.com/l/_pG0BpQFKVCBG
https://dl.doubtnut.com/l/_POsUH1fSrKEn
https://dl.doubtnut.com/l/_Vtm6KbAaeGXT

D.4

Answer: d

° Watch Video Solution

83. 3% + 782 will be divisible by ? 10 ,26, 51, 7.

AT
B.16
C. 25

D.30

Answer: d

o Watch Video Solution



https://dl.doubtnut.com/l/_Vtm6KbAaeGXT
https://dl.doubtnut.com/l/_PHwo6c5Efpqx

84. A number when divided by 6 leaves remainder 3. When the square of

the same number is divided by 6, the remainder is:

A.O0

B.1

C.2

D.3

Answer: d

o Watch Video Solution

3

85.1f n is an integer, then (n — n) is always divisible by :

A4
B.5
C.6

D.7


https://dl.doubtnut.com/l/_e7pGVc5o3ZKV
https://dl.doubtnut.com/l/_HdheRSSW3BLH

Answer: ¢

° Watch Video Solution

86. (10" — 1) is always divisible by 11, if

A.n is any number
B.n is an odd number.
C.n is an even no.

D.n is a multiple of 1

Answer: ¢

° Watch Video Solution

87.(49)"° — 1is exactly divisible by:

A.50


https://dl.doubtnut.com/l/_HdheRSSW3BLH
https://dl.doubtnut.com/l/_B5bKL0SjLbTp
https://dl.doubtnut.com/l/_ofFAPLpAwAjO

B. 51

C.29

D.8

Answer: d

° Watch Video Solution

88.1f 9° — 11 is divided by 8, the remainder is

A.a)0
B.b) 1
C.o)6

D.d)3

Answer: c

o Watch Video Solution



https://dl.doubtnut.com/l/_ofFAPLpAwAjO
https://dl.doubtnut.com/l/_DL3D8E64kW6g
https://dl.doubtnut.com/l/_0Hg2cgdMDW4e

89. When 2** is divided by 9, the remainder will be?

A.a)7
B.b) 8
C.o5s

D.d) 6

Answer: a

° Watch Video Solution

90. When 5°%7 is divided by 500, the remain- der will be?

A. 125
B.1
C121

D.4


https://dl.doubtnut.com/l/_0Hg2cgdMDW4e
https://dl.doubtnut.com/l/_47psM20K0paf

Answer: a

° Watch Video Solution

91. When number 1234567 89101112 13 14 15 is divided by 16, the

remainder will be?

A.6

B.5

C.7

D.8

Answer: ¢

° Watch Video Solution

92. When number 12 3 4 5 . (76 digits) is divided by 16, the

remainder will be?


https://dl.doubtnut.com/l/_47psM20K0paf
https://dl.doubtnut.com/l/_nVfj8MNVI6HD
https://dl.doubtnut.com/l/_84RUL99Ygsao

A7

B.O

C.6

D.2

Answer: b

o Watch Video Solution

93. When number z2 + 7z + 15 is divided by (x - 5), the remainder will
be?

A. 25

B. 30

C.75

D. 45

Answer: ¢



https://dl.doubtnut.com/l/_84RUL99Ygsao
https://dl.doubtnut.com/l/_7wgri4OGDxQW

| ° Watch Video Solution

94. When number z%° + 31 is divided by z* 4 1, the remainder will be?

A.30

B.32

D. 48

Answer: b

° Watch Video Solution

95. When 335 is added to 5A7, the result is 8B2, 8B2 is divisible by 3. What

is the largest possible value of A?

A. 8

B.5


https://dl.doubtnut.com/l/_7wgri4OGDxQW
https://dl.doubtnut.com/l/_AhlARzZKXHS6
https://dl.doubtnut.com/l/_D2eszIlszRCE

C.1

D.4

Answer: d

° Watch Video Solution

96. If the sum of the digits of any integer lying between 100 and 1000 is

subtracted from the number itself, the result is always be:

A.divisible by 6

B. divisible by 2

C.divisible by 9

D. divisible by 5

Answer: ¢

° Watch Video Solution



https://dl.doubtnut.com/l/_D2eszIlszRCE
https://dl.doubtnut.com/l/_KVBtxcyoJIED
https://dl.doubtnut.com/l/_H4ieq3w7wv4o

97.When (43 x 83) is divided by 21, the remainder obtained is ?

A a)1l

B.b) 4

C.c) 20

D.d) 17

Answer: ¢

° Watch Video Solution

130 + 147 i

?
11 S¢

98. The remainder of

A2
B.9
C.3

D.5


https://dl.doubtnut.com/l/_H4ieq3w7wv4o
https://dl.doubtnut.com/l/_YmM0sbZ6qeEb

Answer: a

° Watch Video Solution

99. When 127 x 139 x 12653 x 79 x 18769 is divided by 5, the remainder

obrained is ?

A1l
B.2
C.0

D.4

Answer: d

° Watch Video Solution

100. When 127 + 139 + 12653 + 79 +18769 is divided by 5, the remainder

obtained is?



https://dl.doubtnut.com/l/_YmM0sbZ6qeEb
https://dl.doubtnut.com/l/_cpjQXRQ9C7HJ
https://dl.doubtnut.com/l/_wzjqUio7fkX4

A2

B.3

C.1

D.4

Answer: a

o Watch Video Solution

101. When (1750 + 1748 + 1752 + 70 + 35) is divided by 5, the remainder

obtained is ?

A1l

B.O

D.2

Answer: b



https://dl.doubtnut.com/l/_wzjqUio7fkX4
https://dl.doubtnut.com/l/_dwqSj3puMfbg

| ° Watch Video Solution J

l1+[24+[3+ 4+ 5....+(1000

102. When is
divided by 10, the remaindeer obtained is ?

A3

B.1

C.2

D.9

Answer: a

° Watch Video Solution

Q+[2+[3+[4+......+]1000

103. When is

divided by 12, the remainder obtained is?


https://dl.doubtnut.com/l/_dwqSj3puMfbg
https://dl.doubtnut.com/l/_zKMZh2aDdrmH
https://dl.doubtnut.com/l/_4QL5xfoIgnbw

A 6

B.5

C.9

D.7

Answer: ¢

o Watch Video Solution

104. Find the last two digit in the product of -

39 x 55 x 57 x 24 x 13872 x 9871

A.2and O

B.1and O

C.1and 1

D.2 and 2

Answer: a



https://dl.doubtnut.com/l/_4QL5xfoIgnbw
https://dl.doubtnut.com/l/_anSS5Pulqj9C

| ° Watch Video Solution

(25)48
13

105. The remainder of ?

A 12

C.2

D.1

Answer: d

° Watch Video Solution

(36) 13

106. The remainder of ?

Al

B.6


https://dl.doubtnut.com/l/_anSS5Pulqj9C
https://dl.doubtnut.com/l/_0LsNNVDRK4x2
https://dl.doubtnut.com/l/_aLngb72DZajX

C.2

D.5

Answer: a

o Watch Video Solution

107. When 2% is divided by 9, the remainder obtained is ?

A a)1l
B.b) 2
C.o8

D.d) 6

Answer: ¢

° Watch Video Solution



https://dl.doubtnut.com/l/_aLngb72DZajX
https://dl.doubtnut.com/l/_WGF4zurXXHCT

108. When (35)°" is divided by 9 the remainder obtained is ?

A7
B.8
C.2

D.1

Answer: b

o Watch Video Solution

109. When 7% is divided by 400, the remainder obtained is ?

Al
B.6
C.2

D.3


https://dl.doubtnut.com/l/_D9LQuffAyxTk
https://dl.doubtnut.com/l/_0A0T1cuozQqk

Answer: a

° Watch Video Solution

110. When 2* is divided by 33, the remainder obtained is ?

A. 29
B.7
C.4

D.2

Answer: ¢

° Watch Video Solution

111. When 3% is divided by 82, the remainder obtained is ?

A. 27


https://dl.doubtnut.com/l/_0A0T1cuozQqk
https://dl.doubtnut.com/l/_IdK7I26ZVa2v
https://dl.doubtnut.com/l/_RmoqsnvBRrSu

B. 55

C.65

D.17

Answer: b

° Watch Video Solution

112. When 1177 is divided by 7, the remainder obtained is ?

A2
B.3
C.5

D.1

Answer: a

o Watch Video Solution



https://dl.doubtnut.com/l/_RmoqsnvBRrSu
https://dl.doubtnut.com/l/_BIuWxlTPbD7u
https://dl.doubtnut.com/l/_Pw62y4Elvk9V

113. (3232)32 is divided by 7, the remainder obtained is ?

A a)4
B.b) 3
C.o5s

D.d) 2

Answer: a

° Watch Video Solution

14. [48 + (62)117] is divided by 9, the remain- der obtained is ?

A7
B.2
C.4

D.5


https://dl.doubtnut.com/l/_Pw62y4Elvk9V
https://dl.doubtnut.com/l/_J5ZrYHBQPkGC

Answer: b

° Watch Video Solution

115. is divisible by ?

229 26 2

A. (x-1), but not (x+ 1)

B.(x+ 1), but not (x-1)

C.Both (x + 1) and (x- 1)

D. Neither (x + 1) nor (x- 1)

Answer: ¢

° Watch Video Solution

116. If (x + 1) and (x - 1) are the factors of polynomial az® + bz? + 3z + 5,

then the value ofaand b ?


https://dl.doubtnut.com/l/_J5ZrYHBQPkGC
https://dl.doubtnut.com/l/_R1wP9c92zwHN
https://dl.doubtnut.com/l/_oSm98tQNyn34

B.a=3,b=5

C.a=2,b=3

Answer: d

° Watch Video Solution

117.When z2 — 7z + 15 is divided by (x - 3), the remainder obtained is ?

A3
B.1
C.o0

D.2

Answer: a

° Watch Video Solution



https://dl.doubtnut.com/l/_oSm98tQNyn34
https://dl.doubtnut.com/l/_aED9kLiRXBtq

118.2°! + 16 is divided by (x +1), the remainder obtained is ?

Al
B.2
C.O

D.15

Answer: d

° Watch Video Solution

19.777777 ... 129 times is divided by 37, the remainder obtained is ?

A.O0

B.37

C.1


https://dl.doubtnut.com/l/_aED9kLiRXBtq
https://dl.doubtnut.com/l/_gqoRg94O2rFq
https://dl.doubtnut.com/l/_ZcZgS7a7Evb0

D. 36

Answer: b

° Watch Video Solution

120. 444444444 divided by 13, the remainder obtained is ?

AT

B.2

C.o

D.4

Answer: b

o Watch Video Solution



https://dl.doubtnut.com/l/_ZcZgS7a7Evb0
https://dl.doubtnut.com/l/_yo5zX0hMlMC2

121. When 10! + 10% 4 10% + ....... . 4+ 10% + 10' is divided by 6, the
remainder obtained is

A.2

B.4

C.0

D.1

Answer: b

° Watch Video Solution

122. When 10" + 10% 4 10% + ....... + 10%2 is divided by 6, the remainder
obtained is ?

A4

B.5

C.2


https://dl.doubtnut.com/l/_NBPTsxgGe3NG
https://dl.doubtnut.com/l/_8otwB6ZaW5f8

D.1

Answer: ¢

° Watch Video Solution

123. When 7577 is divided by 37, the remainder obtained is?

Al
B.36
C.3

D.7

Answer: a

° Watch Video Solution

124. When 4177 is divided by 17, the remainder obtained is ?


https://dl.doubtnut.com/l/_8otwB6ZaW5f8
https://dl.doubtnut.com/l/_BqhVQyUrRaTl
https://dl.doubtnut.com/l/_IYftPZZ5ow6X

A2

B.1

C.6

D.4

Answer: ¢

o Watch Video Solution

125. When 1234567891011121314 is divided by 8, the remainder obtained is

?

A4

B.2

C.6

D.3

Answer: b



https://dl.doubtnut.com/l/_IYftPZZ5ow6X
https://dl.doubtnut.com/l/_yH4LDUiWfm5g

| ° Watch Video Solution

126. When 1234 .....41 digits, is divided by 8, the remainder obtained is ?

Al
B.2
C.3

D.4

Answer: a

° Watch Video Solution

1+[2+[3+|4......[100

127. When is

divided by 5, the remainder obtained is ?

A.O0



https://dl.doubtnut.com/l/_yH4LDUiWfm5g
https://dl.doubtnut.com/l/_GHuAMnJbCUw8
https://dl.doubtnut.com/l/_1EGTQiRoh224

B.1

C.2

D.3

Answer: d

° Watch Video Solution

128. When is
divided by 12, the remainder obtained is ?

A 2

B.8

C.7

D.9

Answer: d

f 1


https://dl.doubtnut.com/l/_1EGTQiRoh224
https://dl.doubtnut.com/l/_zvDjRcSRB4z6

| ° Watch Video Solution

129. When 524%0 is divided by 126, the remainder obtained is ?

A5
B. 25
C.125

D.1

Answer: b

o Watch Video Solution

130.When 10" 4 10% + 10% + ....... + 10199 4 10 is divided by 6, the

remainder obtained is ?

A4

B.6


https://dl.doubtnut.com/l/_zvDjRcSRB4z6
https://dl.doubtnut.com/l/_jeX7OOreWjXD
https://dl.doubtnut.com/l/_qru96yJf8Nx8

C.2

D.3

Answer: ¢

o Watch Video Solution

131. When 666666 ........... 134 times, is divided by 13, the remainder obtained

is?

Al

B.3

D.9

Answer: a

° Watch Video Solution



https://dl.doubtnut.com/l/_qru96yJf8Nx8
https://dl.doubtnut.com/l/_DET8cdzKWgO2
https://dl.doubtnut.com/l/_je1alE66AROE

132. When 777777 ... 363 times, is divided by 11, the remainder

obtained is?

A.10

B.7

C.3

D.8

Answer: b

° Watch Video Solution

133. When 7% is divided by 2400, the remain- der obtained is ?

Al
B. 49
C.343

D.7


https://dl.doubtnut.com/l/_je1alE66AROE
https://dl.doubtnut.com/l/_e4HHpSOwB9Ny

Answer: ¢

° Watch Video Solution

134. When 54'?* is divided by 17, the remainder obtained is ?

A4
B.5
C.3

D.15

Answer: a

° Watch Video Solution

135.When (32°2) ™ is divided by 9, the remainder obtained is ?

A4


https://dl.doubtnut.com/l/_e4HHpSOwB9Ny
https://dl.doubtnut.com/l/_OaH7dDMbLlEE
https://dl.doubtnut.com/l/_jN4VboBToxvd

B.7

C.2

D.1

Answer: a

° Watch Video Solution

136. (32*4) ™ divided by 7, the reamainder obtained is ?

A5
B.4
C.6

D.2

Answer: d

o Watch Video Solution



https://dl.doubtnut.com/l/_jN4VboBToxvd
https://dl.doubtnut.com/l/_OB5j5v38ue98
https://dl.doubtnut.com/l/_gFe7HVLJiur7

137. When 333°%° + 555333 is divided by 8, the remainder obtained is ?

A.O0
B.2
C.4

D.5

Answer: a

o Watch Video Solution

138. (97'° — 1024) is completely divisible by the number ?

A 12

B.13

D.17


https://dl.doubtnut.com/l/_gFe7HVLJiur7
https://dl.doubtnut.com/l/_MCkPmZ1Shg6b

Answer: ¢

° Watch Video Solution

139.If (x - 2) is a factor of (a:2 + 3qx — 2q), then the value of q ?

A2

D.1

Answer: ¢

° Watch Video Solution

140. For what value of K, (z — 1) is a factor of (z° — K).

A —1


https://dl.doubtnut.com/l/_MCkPmZ1Shg6b
https://dl.doubtnut.com/l/_KtyNxDbc4DLY
https://dl.doubtnut.com/l/_9zQpchv3Y7MT

B.1

C.8

Answer: b

o Watch Video Solution

141. 1% 1 22%° 1 E, is divisible by (x + 1), the value of k?

Al

Answer: a

o Watch Video Solution



https://dl.doubtnut.com/l/_9zQpchv3Y7MT
https://dl.doubtnut.com/l/_0nhsPvqPcF1O
https://dl.doubtnut.com/l/_qibQLWwHtV0b

142. When (x-a) is a factor of (x3 — 3z%a + 2d%z + p) then find the value
of pis:

A.O

B.2

C.1

D.4

Answer: a

o Watch Video Solution

143.1f (z + 2) and (z — 1) are factors of (z* + 10z* + mz + n) then

Am=5n=-3
B.m=1/,n=-8
Cm=7,n=-18

D.m=23,n=-19


https://dl.doubtnut.com/l/_qibQLWwHtV0b
https://dl.doubtnut.com/l/_yb88vPCzdZNy

Answer: ¢

° Watch Video Solution

144.1f (z'' + 1) is divided by (z + 1), then the remainder is :

A2

B.O

D.12

Answer: b

° Watch Video Solution

145.1f (22° + 52” — 4z — 6) is divided by (22 + 1), then the remainder

obtained is ?



https://dl.doubtnut.com/l/_yb88vPCzdZNy
https://dl.doubtnut.com/l/_6E7cOL2cuHrX
https://dl.doubtnut.com/l/_W0aFJ9q46Gzw

D.6

Answer: ¢

o Watch Video Solution

146. When z* + 5z + 10k is divided by (mz+2) the remainder

obtained is — 2z, then the value of k is

C.1

D.2

Answer: ¢



https://dl.doubtnut.com/l/_W0aFJ9q46Gzw
https://dl.doubtnut.com/l/_DahAOVJwWa46

| ° Watch Video Solution

147.1f (6767 + 67) is divided by 68, the re- mainder is:

Al
B. 67
C.63

D. 66

Answer: d

° Watch Video Solution

14243+ 10reerienena (100000

148. When is

divided by 8 then the remainder will be?

A2


https://dl.doubtnut.com/l/_DahAOVJwWa46
https://dl.doubtnut.com/l/_kAwZQR6T4t50
https://dl.doubtnut.com/l/_J4he9XKxglPI

B.3

C.1

D.4

Answer: ¢

° Watch Video Solution

R+2+3+.....

divided by 12 then the remainder will be?

149. When

A.9

B.8

C.7

D.6

e eeennt[100000

is



https://dl.doubtnut.com/l/_J4he9XKxglPI
https://dl.doubtnut.com/l/_WEHdqjUr6fIq

L T vvaldil vidcoO o01ution J

150. When 84835 + 12 is divided by 84, the remainder will be?

A3

B.5

D.2

Answer: c

° Watch Video Solution

151. When number 10" + 10? + 10° + 10* + cuue...... 1+ 10" is divided

by 6, the remain- der will be?

A4

B.2


https://dl.doubtnut.com/l/_WEHdqjUr6fIq
https://dl.doubtnut.com/l/_unxdtUlOY8IA
https://dl.doubtnut.com/l/_NAEocjy9xlll

C.5

D.1

Answer: b

° Watch Video Solution

152. The sum of 4 + 44 + 444 + ............. .. up to 100 terms.
[10(10™ — 1
A.% ( 5 ) — 100]
i 100
5 4 10(10™ —1) .
9 9
T 100
4 10(10" — 1) .
" 81 9
2 [ 10(10'° — 1)
D. 8 — 100
Answer: a

° Watch Video Solution



https://dl.doubtnut.com/l/_NAEocjy9xlll
https://dl.doubtnut.com/l/_jvhnLuWhnY6q

153. When 252!%6 + 24452 is divided by 10, the remainder will be?

A.8
B.6
C.O0

D.3

Answer: ¢

° Watch Video Solution

154. For any integral value of n, 3*n + 9n + 5 when divided by 3 will leave

the remainder?

Al
B.2
C.o0

D.5



https://dl.doubtnut.com/l/_qPVdoSkuY94B
https://dl.doubtnut.com/l/_htsqMTXwfFS6

Answer: b

° Watch Video Solution

155. Find the remainder when 2% is divided by 89?

A1l
B.2
C.87

D. 88

Answer: b

° Watch Video Solution

156. Find the remainder when 332 is divided by 50.

A. 22


https://dl.doubtnut.com/l/_htsqMTXwfFS6
https://dl.doubtnut.com/l/_GpNVpnkRXDp6
https://dl.doubtnut.com/l/_QkFa5ZuNWocF

B. 41

C.63

D. 88

Answer: b

° Watch Video Solution

157. When (10" + 10" + 10" + ... . 4 1010000000090 'is divided by

7, then the remainder is?

Al
B.5
C.2

D.3

Answer: b

o Watch Video Solution



https://dl.doubtnut.com/l/_QkFa5ZuNWocF
https://dl.doubtnut.com/l/_d35kNUrUWgOM

158. When (98 + 1) is divided by 8, the remainder will be?

A a)3
B.b)2
C.on

D.d)4

Answer: b

o Watch Video Solution

159. When (719 + 2) is divided by 6 then remainder will be?

A5
B.3
C.2

D.1


https://dl.doubtnut.com/l/_d35kNUrUWgOM
https://dl.doubtnut.com/l/_qutKXZ4QJpKn
https://dl.doubtnut.com/l/_KrlGBJ34xz1C

Answer: b

° Watch Video Solution

160. When (43101 + 23101) is divided by 66, then the remainder will be?

A1l
B.2
C.3

D.O

Answer: d

° Watch Video Solution

161. When (3)'%* is divided by 7, then the remainder will be?

A4


https://dl.doubtnut.com/l/_KrlGBJ34xz1C
https://dl.doubtnut.com/l/_oTDAJrXdLUoj
https://dl.doubtnut.com/l/_9YgCxQclqagA

B.6

C.5

D.3

Answer: b

° Watch Video Solution

162. When (25)%° is divided by 24, then the remainder will be?

A a)23
B.b)4
C.on

D.d)3

Answer: c

o Watch Video Solution



https://dl.doubtnut.com/l/_9YgCxQclqagA
https://dl.doubtnut.com/l/_v0n4IZd5soCK
https://dl.doubtnut.com/l/_oRBJQUtpxa1a

163. What is the remainder when 9' + 9% 4 9% + ... + 9% is divided by
6?

A3

B.2

C.0

D.5

Answer: ¢

o Watch Video Solution

164. What is the remainder when 1044 x 1047 x 1050 x 1053 is divided

by 337

A3

B. 27

C.30


https://dl.doubtnut.com/l/_oRBJQUtpxa1a
https://dl.doubtnut.com/l/_v1xkzJxiYNZ0

D.18

Answer: ¢

° Watch Video Solution

165. Find the volume of the following expression.

1-2-3+2-3-4 4 + 100 terms

A. — 626
B. — 622
C.—624
D. — 628
Answer: a

° Watch Video Solution



https://dl.doubtnut.com/l/_v1xkzJxiYNZ0
https://dl.doubtnut.com/l/_fqata8uoIe5H

166. Find the number of terms in between 300 and 600, which are
divisible by 4 ?

A 72

B.74

C.80

D. 76

Answer: b

o Watch Video Solution

1

1 1
167. Find the value of 25 ( 3T Ty T 00 )

A5
B. 25

C.125


https://dl.doubtnut.com/l/_M8YavG9YrD0s
https://dl.doubtnut.com/l/_FdrIzXGX0Qnk

D./5

Answer: a

° Watch Video Solution

168. Find the sum of n terms of the following expression.

8 + 88 + 888 + ........ ?

8(10" — 9™

A 81
8(10" "' — 10 — 9n)

81

B.
c.8(10" ' - 10)

D.8(10" "' — 10)

Answer: b

° Watch Video Solution



https://dl.doubtnut.com/l/_FdrIzXGX0Qnk
https://dl.doubtnut.com/l/_abnl6I1Oe3wl

169. A ball is droped from a height 500 metre. every time ball is bounced
back up to the height 4 / 5th of previous height, till the ball stopped, how
much distance is covered by the ball ?

A. 4500 m

B.4000 m

C.4800 m

D. 5000 m

Answer: a

o Watch Video Solution

170. A ball is droped from a height 600 metre. Every time the ball is
bounced up to the height 2/3th of the previous height, till the ball

stopped, how much distance is covered by ball ?

A.3500 m


https://dl.doubtnut.com/l/_93Zf6ccdW5ys
https://dl.doubtnut.com/l/_fGmVVlQL8WwQ

B.3000 m

C.2500 m

D.4000 m

Answer: b

o Watch Video Solution

171. A side of a square is 16 cm. A new square is formed by joining the
midpoints of sides, again a new square is formed by joining the mid-
points of the new square and this process goes on till infiity. Find the
total area of such square formed ?

A. 256cm”

B. 128¢cm?

C.512cm?

D. 1024cm?


https://dl.doubtnut.com/l/_fGmVVlQL8WwQ
https://dl.doubtnut.com/l/_7t3GKLCb9r8o

Answer: ¢

° Watch Video Solution

172.The sides of a right angled triangle are 6,8 and 10 cm. A new triangle
is formed by joining the mid-points of this triangle, again a new triangle
is formed by joining the mid points of the new triangle and this process
goes on till infinity. Find the total area of such triangle formed.

A. a)64cm?

B. b)128cm’

C. c)32cm2

D. d)16cm?

Answer: c

o Watch Video Solution



https://dl.doubtnut.com/l/_7t3GKLCb9r8o
https://dl.doubtnut.com/l/_gDqotKpNEK3a

173. Find the sum of n terms of the following series.

11+ 103 + 1005 + .......

0
(10" + 1) + n?

Ay

10

B.— (10" — 1

5 (10— 1) + n?

0

10

—(10" — 1

D. (10" — 1) +n
Answer: b

o Watch Video Solution

174. A man gets 60 in first week. and after that every week, he gets 33
more than previous week. then how much money will he get on 20th
week?

A.1770

B.3%1620


https://dl.doubtnut.com/l/_ax2T4fRZttIg
https://dl.doubtnut.com/l/_9GlqbMSgtRqe

C.%1890

D.%1790

Answer: a

° Watch Video Solution

175. A boy charges rupee 1 for first day, rupee 2 for second day and rupee
4 for third and so on. If boy starts work on 1st feb and completed it on

20th feb, then how much amount he get ?

A 2%
B.220 _ 1
c.29 -1
D. 2%
Answer: b

° Watch Video Solution



https://dl.doubtnut.com/l/_9GlqbMSgtRqe
https://dl.doubtnut.com/l/_VcFCvHqa8bX0

176. A new triangle is formed by joining the mid-points of an equilateral
triangle. Again a new triangle is formed by using the mid-points of this
triangle, this process goes on till infinity. If the side of the big equilateral
triangle is 24 units, find the total perimeter of such triangle formed ?

A. 288

B.72

C.36

D. 144

Answer: d

o Watch Video Solution

177. Solve the followings :

(2 6 [ 2 6 2o



https://dl.doubtnut.com/l/_VcFCvHqa8bX0
https://dl.doubtnut.com/l/_hpGZ0fwfYNSq
https://dl.doubtnut.com/l/_bSpqvf1CFdq4

a+b

@ >

Ble 8|le «|8 «|8

N—  ——
S
|
=

IS)
|
o>

N—— ——

a+b

N

o

Answer: a

° Watch Video Solution

xr
178.If z*° = (x%) ,the value of x :

Answer: b

° Watch Video Solution



https://dl.doubtnut.com/l/_bSpqvf1CFdq4
https://dl.doubtnut.com/l/_jSubb7EHnVcM

1 1
179.1f 2% = yb = 2° and y* = zz, then - + s is equal to -

b c a
Lty 11
a b c
Ll 1.2
a C b
pl,1_2
c a b
Answer: ¢

o Watch Video Solution

180. The
1 1

value

1

1_|_mb—a_|_xc—a + 1+xc—b+xa—b +

Al

B.2

C.3

1 4+ xe—c 4 mb—c

is-

of


https://dl.doubtnut.com/l/_jSubb7EHnVcM
https://dl.doubtnut.com/l/_IUbJpkvJADy9
https://dl.doubtnut.com/l/_MTp2j5QqTQ3G

D.4

Answer: a

° Watch Video Solution

181.1f 2* = 4Y = 8° and xyz = 288, the value of % + % + 8_1z is

A
8
. -
4

¢ L

15
o L
"2

Answer: a

° Watch Video Solution

T —z 1 1 1
182.1f 2* = 3Y = 6 %, then the valueof — + — + — —
x Yy oz


https://dl.doubtnut.com/l/_MTp2j5QqTQ3G
https://dl.doubtnut.com/l/_LWMpa931zUKL
https://dl.doubtnut.com/l/_iQ66ARiL3bPG

B.O

C.1

D.2

Answer: b

o Watch Video Solution

4" x 20m 1 x 12m " x 15m T2
183. The value of 6 x5 gl s-
X X

Answer: b

° Watch Video Solution



https://dl.doubtnut.com/l/_iQ66ARiL3bPG
https://dl.doubtnut.com/l/_uVfjL2Nwpu8h

184. Solve the followings :

The value of the expression

(0.3)"/3. (%)1/4. (9)'/°. (0.81)*/°

(0.9)/%.(3) 7. (%) 7 (243) 1/

A3
B.0.03
C.0.3

D.30

Answer: ¢

° Watch Video Solution

185. Whicn of the following is correct ?

A:\/§,B:\3/?_,,C:¢/Z


https://dl.doubtnut.com/l/_uVfjL2Nwpu8h
https://dl.doubtnut.com/l/_gLnYBvbDAzEH
https://dl.doubtnut.com/l/_dVWnBmxFmGzd

AA>B=C

B.B>A>C

CB>A=C

D.C>A=B
Answer: ¢

o Watch Video Solution

186. Arrange the following in descending

V3 - V2, VA- 3,5 - V4, V2 - L.

AVE-VD) > (VB vE) > (VE-yB) > (59
5.(v3- v3) > (VE- VD) > (V- vB) > (B - 4)
(V- VD) > (VA3 > (VB vD) > (VB 2)

D. None of these

Answer: a

order



https://dl.doubtnut.com/l/_dVWnBmxFmGzd
https://dl.doubtnut.com/l/_MYs4iQoeO4aR

| o Watch Video Solution

187. Arrange in ascending order -

VB + V5, VB + VT, VI + VA, VIT+ /2, /10 + /3
AVBH VB> VBT > O+ VE>VIT+ 2> 10+ /3
B.vV/IL+ /2> I0+ 3> 9+ V4> B+ 5> 6+ 7
CVIT+ 2> JI0+ /3> 9+ VA> B+ 5> /6+/7

D. None of these

Answer: c

° Watch Video Solution

188. Arrange in descending order -

VB = VBB — V7, B — VA, VT — 3, JT0 — 3

AVII— /2> 10— /3>/0 V4> 8- 5>,6-7


https://dl.doubtnut.com/l/_MYs4iQoeO4aR
https://dl.doubtnut.com/l/_MpR8nZnt1eAv
https://dl.doubtnut.com/l/_4g4xCSIZ24KP

CVI0— B> B— 5> VII-V12>,0—-vV4> 67

D. None of these

Answer: a

° Watch Video Solution

189. Arrange in descending order -
9350 5200 3300 4250
A 4250 < 3300 - 5200 - 9350
B. 2350 < 5200 < 3300 - 4250
C. 3300« 5200 o 4250 - 9350

D. None of these

Answer: a

° Watch Video Solution



https://dl.doubtnut.com/l/_4g4xCSIZ24KP
https://dl.doubtnut.com/l/_QAN7gyIkNsKz

190. Arrange in descending order -
Y3, VA, 46, ¥/12
1 1 1 1
A 47 >33 > 12 > 6%
1 1 1 1
B.3% > 41 > 65 > 12%©
1 1 1 1
C.47 > 33 > 1212 > 6%

D. None of these

Answer: b

o Watch Video Solution

1 1
191.If z = ——, the value of — is?
5+ 2/6 T
A5+ 26
B.5 — 21/6

C.3+ 23


https://dl.doubtnut.com/l/_QAN7gyIkNsKz
https://dl.doubtnut.com/l/_2DhbwVG1R4kf
https://dl.doubtnut.com/l/_g0HyLMLfc0jW

D. None of these

Answer: b

° Watch Video Solution

IS :

192. The value of vo-2,
V5 +2
A9 — 45
B.9 + 45
C.5+ 22

D. None of these

Answer: a

o Watch Video Solution



https://dl.doubtnut.com/l/_g0HyLMLfc0jW
https://dl.doubtnut.com/l/_KV4NamooKGBg

193. y = \/7 + \/7 + \/7—1——00, then which of the following is
true?

Ay=3

B.3ltylt35

Cy=7

D. >4

Answer: b

° Watch Video Solution

194. \/12—|— \/12 + /12 +.... is equal to

A a)3
B. b)12

C.o)4


https://dl.doubtnut.com/l/_aQ7xohFfMpBB
https://dl.doubtnut.com/l/_eOhe2XjKeC3Y

D. d)None of these

Answer: ¢

° Watch Video Solution

A a)y=3

B.b)2.5<y<3

C.dy=9

D.d)y > 4

Answer: b

o Watch Video Solution

196.1f y — \/42 - \/42 — J/32..... o0 then y=?


https://dl.doubtnut.com/l/_eOhe2XjKeC3Y
https://dl.doubtnut.com/l/_q1TG9v9PdYQI
https://dl.doubtnut.com/l/_gFf63fQU6bBe

A7

B.6

C.5

D.8

Answer: b

o Watch Video Solution

C.5

D. None of these

Answer: ¢

° Watch Video Solution



https://dl.doubtnut.com/l/_gFf63fQU6bBe
https://dl.doubtnut.com/l/_ePVaNywokfYs

198.Ify = , /a, /a,/a./a, Then value of y?

1
A a6

15
B.a1s

31
C.a3

15
D.a1s

Answer: b

° Watch Video Solution



https://dl.doubtnut.com/l/_ePVaNywokfYs
https://dl.doubtnut.com/l/_mXO9p20lAbjA

199.

100

of


https://dl.doubtnut.com/l/_W6LFW4jPavvr

Answer: a

o View Text Solution

200. The value of

A 4

B.2

C.1/2
D.2+/2

Answer: b

° Watch Video Solution



https://dl.doubtnut.com/l/_W6LFW4jPavvr
https://dl.doubtnut.com/l/_zLSiN23KpQqD

201.Square root of 13 — 4,/3 is ?

AV12 41
B.2/3 + 7
C.v/12 -1
D.2,/3 -7
Answer: ¢

o Watch Video Solution

202. Square root of 139 — 80,/3 is ?

A.5,/3+8
B.5/3 — 8
C.5y/3 + 12

D.5/3 — 12


https://dl.doubtnut.com/l/_egfq4tueIlAM
https://dl.doubtnut.com/l/_MD8MsiRzUct5

Answer: b

° Watch Video Solution

203. It is given that (232 + 1) is completely divisible by a number. That
number will certainly divide which of the following numbers?

A.a)2% +1

B.b)7 x 2%

C.o2'% —1

D.d)2'6 + 1

Answer: a

° Watch Video Solution

itz  Ji-w

3
204.If z = i, then value of + is?

2 1+vitz 1-vI-=z



https://dl.doubtnut.com/l/_MD8MsiRzUct5
https://dl.doubtnut.com/l/_hheGKhpLRkEH
https://dl.doubtnut.com/l/_uAJYgFKyFu7k

N

o

“IN sl Gl =G

Answer: b

o Watch Video Solution

205. The smallest value by which 63520 is substracted to make it a perfect
square?

A.16

B. 20

C.24

D.30

Answer: a



https://dl.doubtnut.com/l/_uAJYgFKyFu7k
https://dl.doubtnut.com/l/_GI3SzUWcvf30

| ° Watch Video Solution

4 4
206. The value of {\3/\6/ 59] \3/ /5% is-

A 52
B. 5
c.5®

D. 5!2

Answer: b

° Watch Video Solution

2 3 2- -1
207.The simplification of( V3 + V3 + V3 ) is-

2—4v3 2+43  J3+1
A2—./3
B.2+ /3


https://dl.doubtnut.com/l/_GI3SzUWcvf30
https://dl.doubtnut.com/l/_myVVam92Fv9T
https://dl.doubtnut.com/l/_Yd7VZ1QhwOnF

C.16 — /3

D.40 — /3

Answer: ¢

o Watch Video Solution

208. The value of (\/ﬁ _ \/g) (\/g ’ \/i) is-

5+ /24

A6 — 2
B.v6 + 2
C.v/6—2
D.2 — /6

Answer: ¢

° Watch Video Solution



https://dl.doubtnut.com/l/_Yd7VZ1QhwOnF
https://dl.doubtnut.com/l/_Rrduk0a1FMyX
https://dl.doubtnut.com/l/_5nACoylciF88

o V5332
"V3HVZ VB2 VBB

20

is equal to-

A.0

B. 24/15
C.24/10
D.2/6

Answer: a

o Watch Video Solution

210.
N SRS SRR SR SR
V3+vVAE VA+VE VBB VEHVT O VTR VB4

is equal to?

A. a)\/§
B.b)3/3

C.c)3 — /3


https://dl.doubtnut.com/l/_5nACoylciF88
https://dl.doubtnut.com/l/_oVRCNApJ8CmR

D.d)5 — /3

Answer: ¢

° Watch Video Solution

211. Simplify
1 1 1

1

VI00— V00 09— VB8 | VBB — Vo7  voT— 6

A.10

B.9

C.13

D. 1

Answer: d

° Watch Video Solution



https://dl.doubtnut.com/l/_oVRCNApJ8CmR
https://dl.doubtnut.com/l/_I6IocmfG0TWX

9y (—2)
212.{(—2)( 2)} is equal to :

A.16

B.8

Answer: a

° Watch Video Solution

34/2 2,/6 21/3

213. — +
V6+4/3  /3+1  6+2

is equal to-

A3
B.2

C.o

D. /3


https://dl.doubtnut.com/l/_yAMCMjoZR2nk
https://dl.doubtnut.com/l/_VBsbZKxMQ9BR

Answer: ¢

° Watch Video Solution

1
214.If = 1+ /2 + /3, then the value of <:c + —1>

Aa)l+ 2,3
B.b)2 + /3
C.0)3+ 2

D.d)2,/3 -1

Answer: a

° Watch Video Solution

215. If a, b are rational numbers and

av/by/3 = /98 + /108 — /48 — /72, then the values of a and b are?


https://dl.doubtnut.com/l/_VBsbZKxMQ9BR
https://dl.doubtnut.com/l/_vN8KRSKKzCDC
https://dl.doubtnut.com/l/_F0oAlO1GwRFA

A 1,2

B.13

C. 2]

D.23

Answer: a

o Watch Video Solution

216.1f /a = /26 + /T + /63, then-

A. alt 729 but agt 216
B. alt 216
C.agt 729

D.agt 729

Answer: a

° Watch Video Solution



https://dl.doubtnut.com/l/_F0oAlO1GwRFA
https://dl.doubtnut.com/l/_MTfEIn6HxXQH

A2

B. 22

c.2!

D. 2%

Answer: a

° Watch Video Solution

3m+ 3y
218.1f (3x - 2y) : (2x + 3y) = 5: 6 then the value of u is-
Vi3
A 1
" 25
B.5


https://dl.doubtnut.com/l/_MTfEIn6HxXQH
https://dl.doubtnut.com/l/_VgOi0JrL2JKC
https://dl.doubtnut.com/l/_Mzs2tIlFdO3N

D. 25

Answer: d

° Watch Video Solution

219.1f 11,/n = /112 4 4/343, then value of n is?

A3
B. 1
C.13

D.7

Answer: d

° Watch Video Solution

220. If \/a: + 2\/:1: + 24/x + 24/x + 2.... . 00 = z Then value of x?


https://dl.doubtnut.com/l/_Mzs2tIlFdO3N
https://dl.doubtnut.com/l/_bNCiwjadbope
https://dl.doubtnut.com/l/_vC9IZ7Ndr3AG

A 4

B.3

C.2

D.1

Answer: b

o Watch Video Solution

221. Which is the correct statement :-

A2+ B =T
B.v2+ /5 < /7
CVZ+4B< VT
D.v2+ 5 > V7

Answer: d

° Watch Video Solution



https://dl.doubtnut.com/l/_vC9IZ7Ndr3AG
https://dl.doubtnut.com/l/_IhYm1PevZemf

222. Value of 7“7 /T

A7
B.3
C.4

D.2

Answer: a

° Watch Video Solution

223.Find the value of \/12 - \/12 T

A3

B.4


https://dl.doubtnut.com/l/_IhYm1PevZemf
https://dl.doubtnut.com/l/_YWHHMJ177ED7
https://dl.doubtnut.com/l/_AR7jqIVnwRMW

Answer: a

° Watch Video Solution

,/ 0.00002025
224. m IS equal to

e
' 73
e
' 75
e
) 57
0. B
"V 45
Answer: a

° Watch Video Solution

225. The value ofJ 21 + \3/59 + \/16 + /722 + /49 is-


https://dl.doubtnut.com/l/_AR7jqIVnwRMW
https://dl.doubtnut.com/l/_CDr7bswoJMSz
https://dl.doubtnut.com/l/_iskceIawH8rr

A 4

B.5

C.6

D.8

Answer: b

o Watch Video Solution

226.3{/32 — 5¢/4 + /500 is equal to

A.43/6
B.3v/24
C.6/4

D. 916

Answer: ¢

° Watch Video Solution



https://dl.doubtnut.com/l/_iskceIawH8rr
https://dl.doubtnut.com/l/_9VRXbyhCQ7rc

3

— is equal to
0.4096

A. 0.5625
B. 5.625
C.182

D.13.6

Answer: b

o Watch Video Solution

1/80 — \/112
228.The value of ————
V45 — \/63
A 3
4
B.12
T4


https://dl.doubtnut.com/l/_9VRXbyhCQ7rc
https://dl.doubtnut.com/l/_x0K8SxQBHdRp
https://dl.doubtnut.com/l/_YrKqHcEsydsv

Answer: ¢

° Watch Video Solution

229. (/72 — /18) + /12 is equal to :

A. /6
B./3/2
C.v2/3

D./6/2

Answer: d

° Watch Video Solution

230.1/104.04 + 1/1.0404 + /0.010404 is equal to


https://dl.doubtnut.com/l/_YrKqHcEsydsv
https://dl.doubtnut.com/l/_XOHBoShggUxW
https://dl.doubtnut.com/l/_5GFqvBBel7Y7

A. 0.306

B. 0.0306

C. 11122

D. 11.322

Answer: d

o Watch Video Solution

231. Find the value of

+/175.616 + +/0.175616 + +/0.000175616

A.0.168
B.62.16
C.6.216

D.6.116

Answer: ¢



https://dl.doubtnut.com/l/_5GFqvBBel7Y7
https://dl.doubtnut.com/l/_6lopsKWEsgMr

| ° Watch Video Solution

232.1F 5V® + 12V® — 13V the value of x is

B.4
C.9

D. 16

Answer: b

° Watch Video Solution

233. Find the value of /32 — /128 + /50 upto three places of decimal

(correct value)

A 1.732

B. 1141


https://dl.doubtnut.com/l/_6lopsKWEsgMr
https://dl.doubtnut.com/l/_KYVTlxCuL09D
https://dl.doubtnut.com/l/_syd50Pa1lYcO

C.1414

D. 1441

Answer: c

o Watch Video Solution

234.The value of /1372 x /1458 < /343 is equal to

A. a)18
B. )15
C.o13

D.d)12

Answer: a

° Watch Video Solution



https://dl.doubtnut.com/l/_syd50Pa1lYcO
https://dl.doubtnut.com/l/_givpiL6nQ52B

/5
235.1f /15 = 3.88, the value of 3 is

A.1.293
B. 1.2934
C.1.29

D. 1.295

Answer: a

o Watch Video Solution

236. By assuming +/13 = 3.605 (approximate) +/130 = 11.40

(approximate), find the value of 4/1.3 + /1300 + 4/0.013

A.36.164
B.37.304

C.36.304


https://dl.doubtnut.com/l/_ZJ0bkkiD3BHx
https://dl.doubtnut.com/l/_ni3thjxmkff3

D.37.164

Answer: b

° Watch Video Solution

237.How much greater 5+/7 — 2,/5 from 34/7 — 4,/5?

A5(\/T + /B)
B.v/7+ /5

c.2(v7+ )
D.7(v2 + v/5)

Answer: ¢

° Watch Video Solution

<2+3\/§ B 2—2\/5)
2 - 53

238. Simplify



https://dl.doubtnut.com/l/_ni3thjxmkff3
https://dl.doubtnut.com/l/_y6CaKOS1Q67F
https://dl.doubtnut.com/l/_81t8fHjA6Cqq

1 _
A. 3~ 54/3
B.1
C.2—-5,3
D.O
Answer: b

° Watch Video Solution

— 1
239. The value of 4 /11 + 2,/30 — is
V11 + 2,/30

A.2,/5
B.2./6
C.1++6
D.1++/5

Answer: a

I ° Watch Video Solution


https://dl.doubtnut.com/l/_81t8fHjA6Cqq
https://dl.doubtnut.com/l/_6ET8MsXb3anT

1
240.1f x=8 + 24/15,find \/z + —
NE?

Answer: ¢

o Watch Video Solution

241. Which no. is the greatest number from the following:

V4, /15, /6 and ¥/245

A /4
B. /6


https://dl.doubtnut.com/l/_6ET8MsXb3anT
https://dl.doubtnut.com/l/_TRIx6eY1au6J
https://dl.doubtnut.com/l/_r5TmQjLnxg7G

C. /15

D. /245

Answer: a

o Watch Video Solution

242.(1+‘/§ + L2
VB++v3  V/5—4/3

)Simplify
A 5+ 46
B.2y/5+ /6
C.v/5—6

D.2,/5 — 3,/6

Answer: ¢

o Watch Video Solution



https://dl.doubtnut.com/l/_r5TmQjLnxg7G
https://dl.doubtnut.com/l/_oZKXfodcD9SV

V53

¢5+¢§>2 (fﬁ)
+ is equal to
VB + /3

243. The value of (

A. 64
B. 62
C. 66

D. 68

Answer: b

o Watch Video Solution

244.The smallest no. in the following is (0.5)2, 4/ 0.49, 4/0.008, 0.23

A. (0.5)
B.1/0.49
C. ¢/0.008

D.0.23


https://dl.doubtnut.com/l/_CTSHVj1LH3nj
https://dl.doubtnut.com/l/_8qZyvJN9Hpuq

Answer: ¢

° Watch Video Solution

245. Arrange the  following no. in
(2.89)°°, 2 — (0.5)%, /3 and {/0.008 we get

A.2 — (0.5)%, /3, {/0.008, (2.89)"°

B. /0.008, (2.89)"°, /3,2 — (0.5)%,

C. ¢/0.008, /3, (2.89)*, 2 — (0.5)?,

D. /3, +/0.008, 2 — (0.5)?, (2.89)"?

Answer: b

ascending

order

° Watch Video Solution

246. Find the value of

1
Nz


https://dl.doubtnut.com/l/_8qZyvJN9Hpuq
https://dl.doubtnut.com/l/_NrpnpnPWLvCG
https://dl.doubtnut.com/l/_Cw0P35IIBt9E

A0

B.1

C.2

D.3

Answer: a

o Watch Video Solution

247.The simplification of

32 — 43 + V6 is
V3+4V6 VB+V2 V2443

A a)\/6
B.b)v/3
C.ov2
D.d)64/2-2+/6

Answer: d


https://dl.doubtnut.com/l/_Cw0P35IIBt9E
https://dl.doubtnut.com/l/_OkFSM8WynSuU

° Watch Video Solution

248.The square root of (3 — /5) is
A (ﬁ - 5i)

6.2 (V5 - v3)

¢ 3(/5-1)

1, -
D.E(\/5—1)

Answer: d

o Watch Video Solution

249.If x = \/—\/3 + \/3 + 84/7 + 44/3 where x>0, then the value of x

is equal to:

Iz = \/—\/§+ \/3+8w/7+4\/§aﬁx$rm=r§|maﬁ:amx>o



https://dl.doubtnut.com/l/_OkFSM8WynSuU
https://dl.doubtnut.com/l/_ZidLvCrmvD1x
https://dl.doubtnut.com/l/_lElazLz4VwTC

Al

B.2

C.3

D.8

Answer: b

o Watch Video Solution

250. The value of (3 + 24/2) S (3 —2v2) s equal to

A.189
B. 180
C.108

D. 198

Answer: d

° Watch Video Solution



https://dl.doubtnut.com/l/_lElazLz4VwTC
https://dl.doubtnut.com/l/_jmRhxutF7rps

251. Find the value of /8 + 2,/32 — 3,/128 + 4,/50 if /2 = 1.414 is

A.8.484
B. 8.526
C.8.426

D. 8.876

Answer: a

o Watch Video Solution

252. The simplification of

1 1

VRV IV RN R

is equal to

Al


https://dl.doubtnut.com/l/_jmRhxutF7rps
https://dl.doubtnut.com/l/_hlq0FTeMtAj1
https://dl.doubtnut.com/l/_ByAu0BKW10vn

Answer: c

o Watch Video Solution

253. If a =+,8—+47,b=+T7—4/6 and c=,/6—+/5 then which

answer is right?

Aa)a>b>c
B.b)a<b<c
C.c)b>a >c

D.d)a>c>b

Answer: b

° Watch Video Solution



https://dl.doubtnut.com/l/_ByAu0BKW10vn
https://dl.doubtnut.com/l/_f3o7ukGEsTF5
https://dl.doubtnut.com/l/_zgPKukKxn0cR

5+1 5—1 2 2
\/_+ and b=\/ then the value ofm is
Vb —1 Vb +1 a? — ab + b?

w|ot o w Wk | w

Answer: b

o Watch Video Solution

255.

1 1 1 1 1 1
+ + + + +
V3+vV4  Va+VE o VBB VBT VTHVE B+
is equal to?
A /3
B.3/3


https://dl.doubtnut.com/l/_zgPKukKxn0cR
https://dl.doubtnut.com/l/_iDjebMyfn8OQ

D.5 — /3

Answer: ¢

° Watch Video Solution

256. If /32 + /72 = 14.14 then /18 + /50 + /98 + /1250=?

A. 4545
B. 56.56
C.67.67

D. 78.78

Answer: b

° Watch Video Solution

oy L1 1 1 1 1,
'30 22 "5 72 Te T 1o


https://dl.doubtnut.com/l/_iDjebMyfn8OQ
https://dl.doubtnut.com/l/_pHVWqNl1TT19
https://dl.doubtnut.com/l/_dOs92l7yM6zK

Ot [\&) O [\)
cn|m ~1|°‘ ! ~1|‘°

Answer: d

° Watch Video Solution

o )2

A
999

,, 001

999
1001

3

D. None of these

Answer: ¢

° Watch Video Solution



https://dl.doubtnut.com/l/_dOs92l7yM6zK
https://dl.doubtnut.com/l/_6cDIlYbUmRxr

259. Arrange %,

4 7 6

A-_> o) =)

5 8 7

5 6 7

B-_v -5

67 8

4 5 6

C~_7 .

5 6 7

7 6 5

D'_7 - L

8 7 6
Answer: c

oo <

-

Gl 0| Uk o] ot

N

5
s in the ascending order :

o Watch Video Solution

7

3
260. Arrange 913 in descending order.

3 7 11
A ' Qa’ 19
7913
7 3 11
B. o’ 19
9°5 13
1m 7 3
C. T’ a’'E
13°9°5

9



https://dl.doubtnut.com/l/_6cDIlYbUmRxr
https://dl.doubtnut.com/l/_7QtkAcpmFQZQ
https://dl.doubtnut.com/l/_wOhkwAYBZxSs

D11 3
"137 5’

|~

Answer: ¢

° Watch Video Solution

261. Which of the following order of the fractions is in descending form?

A5 8 11 7
"9’ 157 17’ 11
B5 7T 8 11
"9’ 117 157 17
C11 7 5 8
1771179’ 15
11 7 8 5
D-_1_7_7_
1 11157 9

Answer: ¢

o Watch Video Solution

262. The simplification of (0. 1)2{1 — 9(0.16)2} is


https://dl.doubtnut.com/l/_wOhkwAYBZxSs
https://dl.doubtnut.com/l/_lw4v1XYwMdZu
https://dl.doubtnut.com/l/_9dbGo5GoE7pt

—1
A. T62
1
B. m
7696
109
1
D. m

C.

Answer: b

o Watch Video Solution

> 100

Answer: ¢



https://dl.doubtnut.com/l/_9dbGo5GoE7pt
https://dl.doubtnut.com/l/_bIGKwzESgUce

° Watch Video Solution

264. (1-1/3)(1-1/4)(1-1/5)...(1-1/n) equals:

Answer: b

o Watch Video Solution

, _ (@) +1)(2z +1)

265.1F12 +22 + 32 +..... + 22 = 5 , then the value
of 12 + 32 + 5% + ....... + 19% is equal to:
A. a)1330

B. b)2100


https://dl.doubtnut.com/l/_bIGKwzESgUce
https://dl.doubtnut.com/l/_xrITCdayn4ND
https://dl.doubtnut.com/l/_pfjSrSWi0Umd

C.)1485

D. d)2500

Answer: a

° Watch Video Solution

266. The

) 7 9 11

13
22, 32 * 32 .42 * 4%, 52 *

15

17

value

19

is equal to

1
A ——
100
6

" 25
101
c.—
100

D.1

Answer: ¢

52. 62 * 62. 7 * 7. 82 *

82. 92 *

92. 102

° Watch Video Solution



https://dl.doubtnut.com/l/_pfjSrSWi0Umd
https://dl.doubtnut.com/l/_AmjYfmo26RuP

267.Find the sum of

1 1 1 1 1 1 1
—+—+ =+ —+ —+

9 6 12 20 30 42 56 72

D. ——
2520

Answer: b

1

o Watch Video Solution

1 1 1 1 1 1
28— + — + — +— + — +

315 ' 35 ' 63 ' 99 ' 143

6
A a)—
13
5
B.b)—
7

C)6
.Cﬁ

?



https://dl.doubtnut.com/l/_AmjYfmo26RuP
https://dl.doubtnut.com/l/_33uSeZ5I8D6u
https://dl.doubtnut.com/l/_fFlsmZlKs3bg

11
D.d)—

Answer: ¢

° Watch Video Solution

269. Find the sum of first five terms in the sequence

L + L + 1 +
1x4 4 x 7 7 x 10

Answer: b

° Watch Video Solution



https://dl.doubtnut.com/l/_fFlsmZlKs3bg
https://dl.doubtnut.com/l/_uMAQnVmBNaxS

1 1 1 1
270.Th [ fll14+—=)(1+ = 1+ —1.... — )i
70.The value o ( + 2>< + 3>< -+ 4> <1+ 120)

A.30

B.40.5

C.60.5

D. 121/2

Answer: a

o Watch Video Solution

271. The
5.42x5.42 + 5.42 x 24

value

. 6.54 x6.54 — 3.46 x 3.46

32.71 x 32.71 — 27.29 x 27.29

to

A.03

B.04

C.0.7

3.08 x 5+ 3.08 x 45

of

is equal


https://dl.doubtnut.com/l/_AaWu8hI2hdB2
https://dl.doubtnut.com/l/_8OuG4KqLHoc9

D.25

Answer: b

° Watch Video Solution

1x3%x9+2x6x18+3x9x27+..... '3

1x5x254+2x10x50+3x 15 x 75+ ...

272. The value of [

is

ol ow g|on o

Answer: a

° Watch Video Solution



https://dl.doubtnut.com/l/_8OuG4KqLHoc9
https://dl.doubtnut.com/l/_ctewuiVR7duz

e 1.3 x X
273. The simplification of — — -
1.3 x1.3+1

Answer: a

° Watch Video Solution

274.156.25 +— 25 =~ 5=7

A. 125
B.1.25
C.0.125

D.12.5



https://dl.doubtnut.com/l/_1C969cNnXJ8g
https://dl.doubtnut.com/l/_H0x42Z3XGHYg

Answer: ¢

° Watch Video Solution

275.2100 = 7? = 84 =1

A. 28

B. 25

C.24

D. 22

Answer: ¢

° Watch Video Solution

s, (24 + 248+ 3612+ ..... 1/3
"\ 1.3.9+26.18+3.9.27 + ..... o

Al
"3


https://dl.doubtnut.com/l/_H0x42Z3XGHYg
https://dl.doubtnut.com/l/_sdmTpKdi34Ho
https://dl.doubtnut.com/l/_2a4Cu4ZBM6NT

N
o= | w W

Answer: d

o Watch Video Solution

A 1.12

B. 0.121

C.1.21

D.1.12

Answer: c

° Watch Video Solution



https://dl.doubtnut.com/l/_2a4Cu4ZBM6NT
https://dl.doubtnut.com/l/_IsK4m8vtgzR5
https://dl.doubtnut.com/l/_sqaYHF2YoUw9

278. Find value

1 1 1

1 - — 4+ - —
20+202 20°

tHe correct upto
A.1.05
B.0.95238

C.0.95239

D.10.5

Answer: a

5

places

of decimal

of

o Watch Video Solution

7 5
279.If 47.2506 = 4A + — + 2C + —+6E then value of 5A+ 3B +6C + D +

B D
3Eis

A. a)53.6003

B. b)53.603

C. c)153.6003


https://dl.doubtnut.com/l/_sqaYHF2YoUw9
https://dl.doubtnut.com/l/_o8lxTnLaAi3K

D. d)213.003

Answer: b

° Watch Video Solution

Answer: b

° Watch Video Solution

1 1 1 1
281. (15 + 11— + 1115 + 11115) is equal to

2



https://dl.doubtnut.com/l/_o8lxTnLaAi3K
https://dl.doubtnut.com/l/_BbUlM5Or1VZr
https://dl.doubtnut.com/l/_MPsAFwNJ2f1H

A. 1236

B.1234—

C. 618

D. 617

Answer: b

o Watch Video Solution

282. The value of (0.333 ...... X 0444 ..)is

A.0.148148 ...

B.0.777 ..

C.0.J212 ...

D.1333 ...

Answer: a

° Watch Video Solution



https://dl.doubtnut.com/l/_MPsAFwNJ2f1H
https://dl.doubtnut.com/l/_1ohgbR4m8J3C

2831+1+1 1 1 1 1 1
20 30 42+56+72+90+110+132_'

1

D.
10

Answer: b

o Watch Video Solution

(0.064 — 0.008)(0.16 — 0.04)

284. Find the square root of 3
(0.16 + 0.08 + 0.04)(0.4 + 0.2)

>
w| = w|

@


https://dl.doubtnut.com/l/_1ohgbR4m8J3C
https://dl.doubtnut.com/l/_vHfxuUSdlJuw
https://dl.doubtnut.com/l/_5G36HVjNT86s

Answer: ¢

° Watch Video Solution

285. The greatest number among 3°°, 4%°, 5% and 62 is

A. 4%
B. 530
c. 6%

Answer: a

o Watch Video Solution



https://dl.doubtnut.com/l/_5G36HVjNT86s
https://dl.doubtnut.com/l/_6TPphDludFSJ

286. The number which can be written in the form of n (n+1) (n+ 2), where

n is a natural number is

A7

B.5

C.3

D.6

Answer: a

° Watch Video Solution

287.1+2+3 + ... +49+50+49 +48 + ... +3+2+1is equal to.

A.1250

B. 2500

C. 2525

D. 5000


https://dl.doubtnut.com/l/_bHaEH1iZobIY
https://dl.doubtnut.com/l/_tAtvn6qabWjQ

Answer: a

° Watch Video Solution

288. Which sequence is in desending order:

[\
w
|
Ne}
oo

—
—
Ne)
©

Answer: ¢

° Watch Video Solution

289. The value of (0.34@ + .17@) is

A.0.52 01


https://dl.doubtnut.com/l/_tAtvn6qabWjQ
https://dl.doubtnut.com/l/_K30RdIYxtX0I
https://dl.doubtnut.com/l/_JZjHAozMwzbo

C.05

D.0.51

Answer: b

° Watch Video Solution

290. 0.52525252 ........ is equal to

92

100

8. >
99

25

C. —
99

b 52
990

Answer: a

o Watch Video Solution



https://dl.doubtnut.com/l/_JZjHAozMwzbo
https://dl.doubtnut.com/l/_BTGibJdVuscY
https://dl.doubtnut.com/l/_rF28aF90S1Aq

291.1fa*b = a? + b? - ab then find out the value of [(3 *2) - (6 * 5)].

A —24
B. —22
C.24

D. 22

Answer: d

° Watch Video Solution

2a + 3b

292. If a_ E then find the value of
3 2 3a — 2b


https://dl.doubtnut.com/l/_rF28aF90S1Aq
https://dl.doubtnut.com/l/_S7aIoXjh82ir

Answer: b

° Watch Video Solution

293. (11° + 12° + 13° + ... + 30°) = ?

A. 231200
B. 223100
C. 213020

D. 213200

Answer: ¢

° Watch Video Solution

294. The sum of digits of a two digit no. is 8. If the digits are interchanged

the new no. is 54 less than the given no. Find the number.


https://dl.doubtnut.com/l/_S7aIoXjh82ir
https://dl.doubtnut.com/l/_AL1PY6yseqBb
https://dl.doubtnut.com/l/_GamziiIn2gbn

A 71

B. 61

D.16

Answer: a

o Watch Video Solution

295. Find the biggest number among the following-
0.9, 0. 9, 0.09, 0. 09

A.a)0. 09

B. b)0.09

C.c)0.9

D.d)0.9

Answer: b



https://dl.doubtnut.com/l/_GamziiIn2gbn
https://dl.doubtnut.com/l/_1piwkQVu6Jhg

| ° Watch Video Solution

296. What is the descending order of E, i, i, E?
177117157 9
11
17
11 8
17 T 15 T 11
11 5
17 9
5 11 i
17 11 15

p— —
©| ot o1|°° ©| cn|°°

Answer: a

° Watch Video Solution

0.2x0.2x02+0.3x03x0.3 .

297. The value of is
0.4x04x04+0.6 x0.6x0.6

| = o = oo =


https://dl.doubtnut.com/l/_1piwkQVu6Jhg
https://dl.doubtnut.com/l/_Hmfq43tIWA3X
https://dl.doubtnut.com/l/_JX742a9acWrv

Answer: b

° Watch Video Solution

(2.644)% — (2.356)”

298. On simplificati f
n simplification o 0283

we get :

Al

B.4

C.5

D.6

Answer: d

° Watch Video Solution

8.(3.75)° +1
299. The value of is

(7.5)> — 6.5



https://dl.doubtnut.com/l/_JX742a9acWrv
https://dl.doubtnut.com/l/_4GLbUYbr9MCy
https://dl.doubtnut.com/l/_AIHL0LEwmV9o

A.2.75

C.4.75

D.85

Answer: a

o Watch Video Solution

300.fpxgq=p+q—+ %,then find the value of 8 x 2.

A .20

B.10

D.16

Answer: ¢

° Watch Video Solution



https://dl.doubtnut.com/l/_AIHL0LEwmV9o
https://dl.doubtnut.com/l/_U4GitWWVh5Dq

301.1f aAb = a — b — ( — 2)(a&b > 0) then, find the value of 4A3.

Al

Answer: a

° Watch Video Solution

302. 72519 x 9999 = ?

A. 725117481

B. 674217481

C. 685126481


https://dl.doubtnut.com/l/_U4GitWWVh5Dq
https://dl.doubtnut.com/l/_KU6OJVoW1tHU
https://dl.doubtnut.com/l/_peQnfIQPY16J

D. None of these

Answer: a

° Watch Video Solution

303. The simplification of 3. 36 — 2. 05 + 1. 33 equals:

Answer: ¢

° Watch Video Solution

304.2.75 + 3.78 = ?


https://dl.doubtnut.com/l/_peQnfIQPY16J
https://dl.doubtnut.com/l/_ZlHCLmHoPiqq
https://dl.doubtnut.com/l/_Zu96wcxJUBsi

A.1.03

B.1.53

C.5.53

Answer: d

o Watch Video Solution

305. (6.5 x 6.5 — 45.5 + 3.5 x 3.5) is equal to

A.10
B.9
C.7

D.6

Answer: ¢

° Watch Video Solution



https://dl.doubtnut.com/l/_Zu96wcxJUBsi
https://dl.doubtnut.com/l/_WC91OdcyWzc1

30614~ 4 =4 2h oy 't
gt gty g g isequalte

A .25
B.2
C.3

D.35

Answer: c

° Watch Video Solution

307. Which one of the following is correct ?
(i) 13°" > 31"
(ii) 10" < 100"

(iii) 23% < 322

A. a)(i) and (ii)


https://dl.doubtnut.com/l/_WC91OdcyWzc1
https://dl.doubtnut.com/l/_SRLUX9kpDdMV
https://dl.doubtnut.com/l/_oilcXvv3WJXQ

B. b)(i) and (iii)

C. c)(ii) and (iii)

D. d)(i) only

Answer: a

° Watch Video Solution

308. Find the sum of first 20

1 1 1
5><6+6><7+7><8

A.0.16

B.1.6

C.16

D. 0.016

Answer: d

terms

of

the

sequence

° Watch Video Solution



https://dl.doubtnut.com/l/_oilcXvv3WJXQ
https://dl.doubtnut.com/l/_EeFxVKpPOHqk

300.[1+(2+1)(22+1) (2" +1) (22 +1) (2" +1) (22 +1)] = 7

A 204 1
B.204 + 1
c. 264

D. 2128

Answer: ¢

° Watch Video Solution

1+5 4/2 3 Tt 3

B) 2 3 .

310.The value of ——— —7(g+ ﬁ) of T’

D) 2 3
E:
"3
2 3
"2


https://dl.doubtnut.com/l/_EeFxVKpPOHqk
https://dl.doubtnut.com/l/_HfsildM7dyHy
https://dl.doubtnut.com/l/_hqUgpvFYALjL

D.37—

Answer: b

° Watch Video Solution

31. if , find

26+ — =7

A3

B.4


https://dl.doubtnut.com/l/_hqUgpvFYALjL
https://dl.doubtnut.com/l/_qne83Zof9UH7

C.5

D.6

Answer: b

o Watch Video Solution

312. The value

of


https://dl.doubtnut.com/l/_qne83Zof9UH7
https://dl.doubtnut.com/l/_gVLP3zehsCFy

Answer: d

o Watch Video Solution

3 1
313.If * represents a number then the value of *in 5— X 35 =19is:

A7
B.4
C.6

D.2

Answer: a

° Watch Video Solution



https://dl.doubtnut.com/l/_gVLP3zehsCFy
https://dl.doubtnut.com/l/_m3iJlZNjLmXx

-?

31413—
‘18

3+

-— | g

1+
2+


https://dl.doubtnut.com/l/_m3iJlZNjLmXx
https://dl.doubtnut.com/l/_m8m45EWrZYYR

Answer: ¢

° Watch Video Solution

315.Thevalueof 1 -+ [1+1+{1+1+(1+1+2)}is

Answer: b

° Watch Video Solution

316. Find the value of 1 + 999 494 x 99
: 5 495

A. 90000


https://dl.doubtnut.com/l/_m8m45EWrZYYR
https://dl.doubtnut.com/l/_xmArwqJFa97L
https://dl.doubtnut.com/l/_mHFsMYvVjxPx

B. 99000

C. 90900

D. 99990

Answer: ¢

° Watch Video Solution

317. A man has some hens and cows. If the number of heads : number of

feet =12 : 35, find out the number of hens, if the number of heads alone is

48.

A. 28

B. 26

C.24

D. 22

Answer: d

[ - ]


https://dl.doubtnut.com/l/_mHFsMYvVjxPx
https://dl.doubtnut.com/l/_QYcLwUQ5yYtz

| @J Watch Video Solution J

318. The length of a road is one kilo metre. The number of plants required

for plantation at a gap of 20 metres in both sides of the road is

A. 102

B. 100

C. 51

D. 50

Answer: a

o Watch Video Solution

1 1
319.In a school 0 of the boys are same in number as 1 of the girls and

5 1
3 of the girls are same in numbers as 1 of the boys. The ratio of the

boys to girls in that school is


https://dl.doubtnut.com/l/_QYcLwUQ5yYtz
https://dl.doubtnut.com/l/_tDuYlghG3Uhi
https://dl.doubtnut.com/l/_LG7snhD7mzOV

A2:1

B.5:2

C.4:3

D.3:2

Answer: d

o Watch Video Solution

320. There are 50 boxes and 50 persons. Person 1 keeps 1 marble in every
box. Person 2 keeps 2 marbles in every 2nd box, person 3 keeps 3 marbles
in every third box. This process goes on till person 50 keeps 50 marbles in
the 50th box. Find the total number of marbles kept in the 50th box.

A. 43

B. 78

C.6

D. 93


https://dl.doubtnut.com/l/_LG7snhD7mzOV
https://dl.doubtnut.com/l/_9llYlOaPvz8d

Answer: b

° Watch Video Solution

321. A man engaged a servant on the condition that he would pay him
Rs90 and a turban after service of one year. He served only for nine
months and received the turban and an amount of Rs 65. The price of

turban is

A. 25

B.18.75

D.25

Answer: b

° Watch Video Solution



https://dl.doubtnut.com/l/_9llYlOaPvz8d
https://dl.doubtnut.com/l/_ZUdD5s0AEhoS

. . . 4
322. A school group charters three identical buses and occupies T of the
1 .
seats. After a 1 of the passengers leave, the remaining passengers use

only two of the buses. The fraction of the seats on the two buses that are

now occupied is

A8
;)
B 7
"9
c 7
"10
5 9
10
Answer: b

o Watch Video Solution

323. There are 2 teams A and B. If 3 people are shifted from Team A to
Team B, then Team B has thrice the number of members than Team A. If 2

people are shifted from Team B to Team A, then Team B has double the


https://dl.doubtnut.com/l/_wyD2wEQcOLuG
https://dl.doubtnut.com/l/_M3Lr6jcxXWCm

number of members than Team A. How many members does team B have
originally ?

A 15

B.18

C.42

D. 45

Answer: a

o Watch Video Solution

324.If in a three-digit number the last two digits places are interchanged,
a new number is formed which is greater than the original number by 45.

What is the difference between the last two digits of that number ?

A5
B.8

C.6


https://dl.doubtnut.com/l/_M3Lr6jcxXWCm
https://dl.doubtnut.com/l/_Kkln7DHFfa74

D.9

Answer: b

° Watch Video Solution

325. The rent of a guest house for first 3 days is 50 per day, for next 5 days
is 100 per day and for further days is 300 per day. Initial registration Fee
is 50. If a guest paid 300 in total then for how many days he stayed in
guest house?

A 4

B.7

C.8

D.10

Answer: d

o Watch Video Solution



https://dl.doubtnut.com/l/_Kkln7DHFfa74
https://dl.doubtnut.com/l/_JF0BRQ8wACik

326. Some friends decided to go on a picnic and expected expense is
assumed as 768. Four friends did not come for which each paid 16 extra.

How many friends went for picnic?

A 24

B.16

D.8

Answer: ¢

o Watch Video Solution

327.1n a cricket match highest score in a innings is 2 / 9 of the total score
and second highest score is 2 / 9 of the rest score. If difference between

highest and second highest scores is 8 runs. Then the total score is?

A.160


https://dl.doubtnut.com/l/_zreKbC2223E0
https://dl.doubtnut.com/l/_5V6MhFRvhRiK

B.172

C.180

D. 162

Answer: d

o Watch Video Solution

328. A man distributes all his money among his three sons such that he
3
gives 7,500 to his elder son, 0 part of his total money to his second son
and third son get sum of money received by both first and second sons.
what is the total money?
A.30000
B. 35000

C. 18750

D. 37500


https://dl.doubtnut.com/l/_5V6MhFRvhRiK
https://dl.doubtnut.com/l/_WS4SslZ7ZUXh

Answer: ¢

° Watch Video Solution

329. The fare of a auto for first 30 km. is Rs.8 per km. for next 60 km, is Rs.
5 per km, and after for every 5 km, fare is Rs. 8.
1
Satish saves 5 part of his total money after paying for Rs. 320 km. of
journey. How much money he had in the starting?
A.a)1035
B. b)1135

C.0)1240

D.d)1320

Answer: b

° Watch Video Solution



https://dl.doubtnut.com/l/_WS4SslZ7ZUXh
https://dl.doubtnut.com/l/_IuKasTWUGEmC

330. If Atul finds that he is twelth from the right in a line of boys and
fourth from the left, how many boys should be added to the line such

that there are 28 boys in the line?

A 12

B.13

D. 20

Answer: b

o Watch Video Solution

331. In a fraction, when numerator increases by 1 and denominator
, . 2

increases by 2, then the fraction becomes 3 But when numerator
: : : : o
increases by 5 and denominater increases by 1 then fraction becomes —.

The original fraction is?


https://dl.doubtnut.com/l/_W50DWcXBIl57
https://dl.doubtnut.com/l/_2Wi4V2MFV1NF

A a)—

B.b)—

C.o—

D.d)=

Answer: ¢

o Watch Video Solution

332. In a class of 60 students each boy gives as much money as the
number of girls and each girl gives as much money as the number of
boys. If the total collection of money is 1600. Then find the number of
girls in the class?

A. 30, 20

B. 25,20

C. 50, 60

D. 20,40


https://dl.doubtnut.com/l/_2Wi4V2MFV1NF
https://dl.doubtnut.com/l/_d4TeuVDDGGcS

Answer: d

° Watch Video Solution

333. From a book of 20 pages, one page has been disappeared. The sum

of rest pages numbers is 195. Find numbers on both sides of left page.

A.9,10

B. 5,6

C. 11,12

D.78

Answer: d

° Watch Video Solution

3
334. In a examination , a student was asked to find Tz of a certain

3
number , By mistake , he found 7 of it. His answer was 150 more than the


https://dl.doubtnut.com/l/_d4TeuVDDGGcS
https://dl.doubtnut.com/l/_jxMcoM3cJ6w8
https://dl.doubtnut.com/l/_BJRTOJBrHdX7

correct answer . The given number is :

A. 180

B. 240

C. 280

D. 290

Answer: ¢

o Watch Video Solution

335. The price of 10 chairs is equal to that of 4 tables. The price of 15
chairs and 2 tables together is 4000. The total price of 12 chairs and 3
tables is

A. 3750

B. 3840

C.3500


https://dl.doubtnut.com/l/_BJRTOJBrHdX7
https://dl.doubtnut.com/l/_Y9naUOs8wocb

D. 3900

Answer: d

° Watch Video Solution

5
336. A student was asked to find 6 a of a number. By mistake he (5)/(6)'

found of that number. His answer was 250 more than the correct answer.
Find the given number.

A. 300

B. 480

C.450

D. 500

Answer: b

o Watch Video Solution



https://dl.doubtnut.com/l/_Y9naUOs8wocb
https://dl.doubtnut.com/l/_eXACqb5SNTkF
https://dl.doubtnut.com/l/_R8rMDciI5TEp

337. A number of friends decided to go on a picnic and planned to spend

108 on eatables. Three of them however did not turn up. As a

consequence each one of the remaining had to contribute 3 extra. The

number of them who attended the picnic was:

A 15

B.12

C.9

D.6

Answer: c

o Watch Video Solution

338. One-fourth of a tank holds 135 litres of water. What part of the tank

is full if it contains 180 litres of water?

>
w|r o

@


https://dl.doubtnut.com/l/_R8rMDciI5TEp
https://dl.doubtnut.com/l/_N5ffy072Bw4M

)

o
o= W

Answer: c

° Watch Video Solution

2
339. A man spends a 7 th of his in come on food — rd of it on house rent

and the remaining income which is Rs 630 on other commodities. Find his

house rent.

A.5040
B.3520
C. 4890

D. 4458

Answer: a

° Watch Video Solution



https://dl.doubtnut.com/l/_N5ffy072Bw4M
https://dl.doubtnut.com/l/_zVXAtQBV2V4T

3 1 2 2 1
340. 1t 7 of the difference of 2Z and 1— is subtracted from — of 3— the

result is

48
83

48
83

83
48

5 83
" 48

Answer: d

o Watch Video Solution

341.380 mangoes are distributed among some boys and girls who are 85

in number. Each boy gets four mangoes and cach girl gets five. The

number of boys is

A 15


https://dl.doubtnut.com/l/_zVXAtQBV2V4T
https://dl.doubtnut.com/l/_cC4uFoMVcmUz
https://dl.doubtnut.com/l/_bkqLYUCUyAMk

B.38

C.40

D. 45

Answer: d

o Watch Video Solution

342. A train covers the distance 200 meters 500 and 900 min 1 min, 2
minutes and 3 minutes respectively. In how many time it covers the

distance of 2 km if it covers the distance every minute in the same order?

A. 4 minutes

B41
T2

C.5 min

D51 i
-53 min

Answer: c

[ - ]


https://dl.doubtnut.com/l/_bkqLYUCUyAMk
https://dl.doubtnut.com/l/_cJ7gOhSZtU0x

| @J Watch Video Solution J

343. 8 persons met on an occasion. If they shook hands with each other.

One time, how many times did the hands shake?

A. a)16
B.b)36
C.c)56

D.d)28

Answer: d

° Watch Video Solution

344. Each member of a picnic party contributed twice as many rupees as
the total number of members and the total collection was Rs 3042. The

number of members present in the party was


https://dl.doubtnut.com/l/_cJ7gOhSZtU0x
https://dl.doubtnut.com/l/_UHi94FYEbD93
https://dl.doubtnut.com/l/_sj6mrqTqlHUn

A2

B.32

C.40

D. 39

Answer: d

o Watch Video Solution

345.1n a basket the apples becomes double of itself after each minute. In

40 minutes the basket fill completely, then in how much time the basket

is filled 1/ 8 of the total?

A. 35 minute

B. 36 minutes

C. 37 minutes

D. 38 minutes


https://dl.doubtnut.com/l/_sj6mrqTqlHUn
https://dl.doubtnut.com/l/_Y24R0upvho7O

Answer: ¢

° Watch Video Solution

346. A boy was asked to multiply a no. by 53. The boy made a mistake by
multiplying the no. by 35 instead of 53 and got the answer 1206 less then
the right answer. The no to be multiplied was :

A. 62

B. 67

C.74

D. 76

Answer: b

° Watch Video Solution



https://dl.doubtnut.com/l/_Y24R0upvho7O
https://dl.doubtnut.com/l/_ZSFl4ds0VuEP

347.1n a classroom, if 6 students per bench are assigned to accommodate
all students, one more bench will be required. However, if 7 students are
accommodated per bench, there would be space left for 5 students. What
in the number of student in the class?

A.a)30

B.b)42

C.0)72

D. d)none of these

Answer: ¢

o Watch Video Solution

348.3/4 of a tank is filled with water. If 30 liters of water is subtracted to

the tank, then if becomes empty. The capacity of the tankis

A. 36 liters


https://dl.doubtnut.com/l/_3wT7D5OHF8Tu
https://dl.doubtnut.com/l/_QIhWwxXs9DVp

B. 42 liters

C. 40 liters

D. 38 liters

Answer: ¢

° Watch Video Solution

349. A pot which is full of water, weight is 28 Kg. When the pot 1/ 4 full,

weight is 19 Kg. If the pot is 2 / 3 full of water then the weight is

A.8 Kg.

B.20 Kg

C.24 Kg

D. 18.6 Kg.

Answer: c

° Watch Video Solution



https://dl.doubtnut.com/l/_QIhWwxXs9DVp
https://dl.doubtnut.com/l/_nFu4zX9r9njN

350.In an examination, a student got 150 marks if he answered all the 75
question. He got 4 marks for each right answer and 2 marks are deducted
for watch wrong answer from his score. Total right answer are

A. 45

B. 50

C.55

D. 48

Answer: b

o Watch Video Solution

351. In a week, there are 5 working days and each workers has to work 8
hours per day. A worker gets 2.40 per working and 3.20 per extra hour. If

he earned 432 in 4 weeks then how many hour he worked?


https://dl.doubtnut.com/l/_nFu4zX9r9njN
https://dl.doubtnut.com/l/_LtM9ArCVHXOW
https://dl.doubtnut.com/l/_Y6h1p7Xjy6vY

A.160

B.175

C.180

D. 195

Answer: b

o Watch Video Solution

352. A person has divided his total money in his will in such a-way-that
half of it goes to his wife, 2/3"1 of the remaining among his three sons
equally and the rest among his four daughter equally. If each daughter
gets 20,000, how much money will each son get?

A. 4823333

B.50333.33

C. 5333333

D. data is incomplete


https://dl.doubtnut.com/l/_Y6h1p7Xjy6vY
https://dl.doubtnut.com/l/_uUvSAL06Da98

Answer: ¢

° View Text Solution

353. In an office 1/3 of total employees are female and 1/2 of female
have children . If 3/4 of total males are married and 2/3 of married

males have children, then how many workers have no children.

Answer: ¢

° Watch Video Solution



https://dl.doubtnut.com/l/_uUvSAL06Da98
https://dl.doubtnut.com/l/_k3nHMM8WGVGZ

2
354. A man covered distance 3.5 km from a place A to B in which 1— Km,
1
distance was covered by cycle, 16 Km, by scooter and the rest on foot.

How much part of total distance did he cover on foot?

[\) winN N =
o @l ma gl

Answer: b

o Watch Video Solution

355.1n a group of boys and dogs, the number of heads is 7 and number of

legs is 20. How many boys and dogs are there re- spectively?

A. 2 boys, 5 dogs

B. 3 boys, 5 dogs


https://dl.doubtnut.com/l/_0TXdYaKJ5npu
https://dl.doubtnut.com/l/_ro1yUVwnrto2

C.4 boys, 3 dogs

D. 5 boys, 2 dogs

Answer: c

° Watch Video Solution

356. A man read 2/5 of a book on one day and 1/ 3 more than the first

read on second day. If the remained pages are 15 on third day then the

total pages in the book are

A.100
B. 105
C. 225

D. 250

Answer: ¢

° View Text Solution



https://dl.doubtnut.com/l/_ro1yUVwnrto2
https://dl.doubtnut.com/l/_EdrJgBUZVns3

357. A common factor of (13" + + 117) and (13° + 11°) is

A. 24
B.13°% + 11°
C.13% + 112

D. None of these

Answer: a

o Watch Video Solution

358. Which of the following is a perfect square ?

A. 3497497

B. 4587632

C. 1046529

D. 1034758


https://dl.doubtnut.com/l/_EdrJgBUZVns3
https://dl.doubtnut.com/l/_gCLaSaTUVJnA
https://dl.doubtnut.com/l/_fvs4FEJUbtqn

Answer: ¢

° Watch Video Solution

1 1 )
359. If 255 = 0.396 then the value of 0.0002525. will be

A. 3960
B. 39600
C. 0.0000396

D. 0.000396

Answer: b

° Watch Video Solution

360. The numerator of a fraction is 3 less than its denominator. If 7 is
added in the numerator and 2 is subtracted from the denominator, the

fraction becomes 2. Find the fracion.



https://dl.doubtnut.com/l/_fvs4FEJUbtqn
https://dl.doubtnut.com/l/_Nwt4wK7RtrGB
https://dl.doubtnut.com/l/_bUQQyy8n8el6

A a)—

8
B. b)ﬁ
C. C)l_O

Dd)3
13

Answer: a

o Watch Video Solution

361.In a fraction the denominator is 2 more than 3 times the numerator.
If 1is added in both numerator and denominator, the fraction becomes

1/3. What is the fraction.
4
A a)l—3
B. b)i
11
C. c)i
13

Dd)5
11


https://dl.doubtnut.com/l/_bUQQyy8n8el6
https://dl.doubtnut.com/l/_zK77sGJleqBP

Answer: b

° Watch Video Solution

362. In a two digit no. ten's digit is 5 more than unit digit. After
subtracting 5 times the sum of digits from the number, the digits are
interchanged. Find out the sum of both digits.

A.a)9

B. b)11

C.o)7

D.d)13

Answer: a

° Watch Video Solution



https://dl.doubtnut.com/l/_zK77sGJleqBP
https://dl.doubtnut.com/l/_jIGKzv4kDmiY

363. In a three-digit number, the digit at the hundred's place is two times
the digit at the unit's place and the sum of the digits is 18. If the digits
are reversed, the number is reduced by 396. The difference of hundred's
and ten's digit of the number is

A 4

B.2

C.6

D.3

Answer: b

o Watch Video Solution

1 2 3 ) 6
364. 9997 + 9997 + 9997 + 999% + 9997 + 9997 is simplified to:

A. 5997

B. 5979


https://dl.doubtnut.com/l/_tsSV68IkO0jO
https://dl.doubtnut.com/l/_eQKIQO8CBaSs

C. 5994

D. 2997

Answer: a

o Watch Video Solution

9|3 — 5| — 54| = 10

365. Find the value of
—3(5) —2x4+2

Answer: ¢

o Watch Video Solution



https://dl.doubtnut.com/l/_eQKIQO8CBaSs
https://dl.doubtnut.com/l/_2WB8n4lo9DaR

366. The value of (1 +

is equal to \

Al-+

z+4

B.x +4

Answer: d

o Watch Video Solution

2a + b
a -+ 4b

367.If

Wl o oo

= 3, the value of

+b
a+2b

is equal to



https://dl.doubtnut.com/l/_KsnWICqX7VkE
https://dl.doubtnut.com/l/_4u4gJjbsWPRF

Answer: d

° Watch Video Solution

368. How many digits are in the square root of 11664007

A5
B.3
C.6

D.4

Answer: d

o Watch Video Solution



https://dl.doubtnut.com/l/_4u4gJjbsWPRF
https://dl.doubtnut.com/l/_vyFSCTB3zebG

369. Simplify
1 1 1 1

VI00— 09 09— 08 | VOB — Vo7 voT— o6 |

A.O

B.9

D. M

Answer: d

o Watch Video Solution

370.1f ¥/0.014 x 0.14z = 0.014 x 0.14/y then z is equal to
Y

A. a)0.000196
B. b)0.00196

C.)0.0196


https://dl.doubtnut.com/l/_oUD8QjXWndc4
https://dl.doubtnut.com/l/_kAwKthUtvK7E

D.d)0.196

Answer: b

° Watch Video Solution

371. The descending order of ¥/4, /2, /3 and {/5 is
A V4> {B>2> 3
B./5 > V4> 3> 2
CV2, 3> > V4> {5

D. /3> ¢/5) > V4> /2

Answer: a

o Watch Video Solution

372.N/x_1yw/y_1z\/z_lw =7


https://dl.doubtnut.com/l/_kAwKthUtvK7E
https://dl.doubtnut.com/l/_UzdDJZZJdGfe
https://dl.doubtnut.com/l/_F3s9IPKxZV1Z

A. xyz

B. ,/Tyz
1
C.—yz

D.1

Answer: d

° Watch Video Solution

a\ 1/ab p\ 1/bc e\ 1/ca
373, (9"—> x (m_> x (m—) — 7
b ¢ 2@

A1l
B. x]. /abc

C $1/ (ab-+bc+ca)

D. None of these

Answer: a

| ° Watch Video Solution


https://dl.doubtnut.com/l/_F3s9IPKxZV1Z
https://dl.doubtnut.com/l/_66XvJ4I2wzJp

374.The value of

A. 216

B. 36

Answer: a

° Watch Video Solution

VI3 +1
A

VIT+1
B.T



https://dl.doubtnut.com/l/_66XvJ4I2wzJp
https://dl.doubtnut.com/l/_GMExZoJoWPGH
https://dl.doubtnut.com/l/_ZutiMQTat56i

c V11 +1

2

V2141
D. ——

Answer: a

o Watch Video Solution

A V21 + 1

2

VIT+1
B.T

VIT+1
C—F—

13—1
o YB-1

2

Answer: d

° Watch Video Solution



https://dl.doubtnut.com/l/_ZutiMQTat56i
https://dl.doubtnut.com/l/_dcYQAtJzBqyy

-1
377.Find the value of [1 —2(1-2) ‘1}

Answer: a

o Watch Video Solution

378. By what least number 1323 be multiplied to obtain a number which is

perfect cube?

A. a)2

B.b)3

C.c)5

D.d)7


https://dl.doubtnut.com/l/_xNI3ODhqqu12
https://dl.doubtnut.com/l/_mQuo6TkYMeRz

Answer: d

° Watch Video Solution

379. Write 0.0000007826 in scientific form.

A a)7.826 x 10~ 7
B.b)78.26 x 108
C.c)782.6 x 10~?

D. d)0.7826 x 10~°

Answer: a

° Watch Video Solution

380. If n is a whole number greater than 1, then n? (n2 — 1) is always

divisible by :


https://dl.doubtnut.com/l/_mQuo6TkYMeRz
https://dl.doubtnut.com/l/_AbzFyY3KJFsI
https://dl.doubtnut.com/l/_aob25O6UMx26

A. 16

B.12

C.10

D.8

Answer: b

o Watch Video Solution

381. Both the end digits of a 99 digit number N are 2. N is divisible by 11,

then all the middle digits are:

A1l
B.2
C.3

D.4

Answer: d



https://dl.doubtnut.com/l/_aob25O6UMx26
https://dl.doubtnut.com/l/_TZ418ns3uiT2

| ° Watch Video Solution

382. Find the sum of all positive multiples of 3, less than 50

A. 400

B. 404

C.408

D. 412

Answer: ¢

° Watch Video Solution

383. Among the following statements, the statement which is not correct

is :

A. a)Every rational number is a real number

B. b)Every real number is a rational number


https://dl.doubtnut.com/l/_TZ418ns3uiT2
https://dl.doubtnut.com/l/_cbVFqlD3Hdt8
https://dl.doubtnut.com/l/_5mfy3DQi1CEB

C. c)Every integer is a rational number

D. d)Every natural number is an integer

Answer: b

° Watch Video Solution

384. The digit at Hundred's place value of 17! is

Al

B.O

C.2

D.3

Answer: b

° Watch Video Solution



https://dl.doubtnut.com/l/_5mfy3DQi1CEB
https://dl.doubtnut.com/l/_yy7jbVTnrhvR

385. 9 guest shake hands with each other. Then total number of

Handshakes will be?

A 72

B. 81

C.72

D. 36

Answer: d

o Watch Video Solution

386. A 6 digit number is formed by repeating 2 digits for 3 times (ex.

282828, 131313). This number will always be a multiple of?

A. 10101

B. 11001

C. 101010


https://dl.doubtnut.com/l/_JiP7x7eTlcUu
https://dl.doubtnut.com/l/_07mxsE2U6BDo

D. 11100

Answer: a

° Watch Video Solution

387. In the expansion of (6)'° x (7)'* x (5)°® x (11)'*, numbers of
prime numbers are?

A. 213

B. 222

c.21n

D. 214

Answer: a

° Watch Video Solution



https://dl.doubtnut.com/l/_07mxsE2U6BDo
https://dl.doubtnut.com/l/_Pg20Pq6DgJNe

11
388. A student is asked to multiply a number by 23 By mistake, he

11
divides the number by 23 and get result 1224 more. Find the number?
A. 253
B. 506
C.759

D. 1012

Answer: ¢

o Watch Video Solution

1 1
389. In a college, 5 th of the girls and 3 th of the boys took part in a

social camp. The part of students in the college who took part in the

camp is:


https://dl.doubtnut.com/l/_6v9JeivCVhC1
https://dl.doubtnut.com/l/_m7coH5vJzTnR

D. Can't be determine

Answer: c

o Watch Video Solution

390. How many natural numbers below 660 are divisible by 5 and 11 but

not by 3?

A. a)8

B.b)9

C.0)10

D.d)1

Answer: a

° Watch Video Solution



https://dl.doubtnut.com/l/_m7coH5vJzTnR
https://dl.doubtnut.com/l/_LVnVVfUaN83n
https://dl.doubtnut.com/l/_V3w3HZdn0KOc

391. (2" — a") is completely divisible by (x - a) is

A.n is an even natural number

B. n is an odd natural number

C.n is a natural number

D. nisaprime

Answer: ¢

o Watch Video Solution

392. How many numbers between 300 and 785 are exactly divisible by 13?

A. 39

B.40

C. 41

D. None of the above


https://dl.doubtnut.com/l/_V3w3HZdn0KOc
https://dl.doubtnut.com/l/_UHwTbykZuId4

Answer: d

° Watch Video Solution

393. Find the smallest prime number of three digits.

A.103

B. 107

C.109

D. None of these

Answer: d

° Watch Video Solution

394. The value of

A.O


https://dl.doubtnut.com/l/_UHwTbykZuId4
https://dl.doubtnut.com/l/_tO0Jz3ORs5ai
https://dl.doubtnut.com/l/_1WDTQLnsjEbj

N

O
O| = W]~

Answer: a

° Watch Video Solution

395.The val f 999 298 x 999 i
.The value o 999 is

A. 990809
B. 998996
C. 999824

D. 998999

Answer: d

o Watch Video Solution



https://dl.doubtnut.com/l/_1WDTQLnsjEbj
https://dl.doubtnut.com/l/_2Fn8sla3oTxK
https://dl.doubtnut.com/l/_pckK3DSkvGqM

396.0. 16 = ?

D. None of these

Answer: a

° Watch Video Solution

397.2.43 +3.62+3.18 = ?

A.8.24
B.9.24
C.8.23

D. None of these


https://dl.doubtnut.com/l/_pckK3DSkvGqM
https://dl.doubtnut.com/l/_kfhzK7HzQ5Tx

Answer: b

° Watch Video Solution

398.2.61 + 9.24 + 10.63 = ?

A 22.48

B. 21. 48

C.22.48

D. None of these

Answer: a

° Watch Video Solution

399.0.576 = ?

i
" 999


https://dl.doubtnut.com/l/_kfhzK7HzQ5Tx
https://dl.doubtnut.com/l/_00yFrLYdI9TU
https://dl.doubtnut.com/l/_e43pjRfZvSAF

5, 5T
" 999

s}
" 990

i}
" 900

Answer: ¢

° Watch Video Solution

400. 3.0072=?

29772
A

" 9900

B 29772
" 9999

c 29772
9990

D. None of these

Answer: a

o Watch Video Solution



https://dl.doubtnut.com/l/_e43pjRfZvSAF
https://dl.doubtnut.com/l/_8hssJ6DTtzes




